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Preface 

 

            Each pupil is unique with respect to learning ability, academic standards, class 

room learning and academic performance and each has his/her own pace of learning. 

The question pool is intended to provide learning support to pupils who lag far 

behind their counterparts in academic performance. This material strengthens their 

confidence, enhances the ability to face questions and answer them effectively to 

attain high scores.  It also familiarizes them with indirect questions and equips them 

to answer with confidence. 

              This question bank is based on the NCERT text book of biology class XI and 

class XII and it contains model questions that appear in public/board examination. 

The ultimate aim of this teaching material is to help pupils who have fallen behind to 

learn to the best of their ability and to bring them back into the mainstream classes as 

far as possible. 
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THE LIVING WORLD 

One word answer questions. Each question carries one score 
Hä hm¡nÂ D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 1 kvtImÀ hoXw 
 

1. ICBN means 

ICBN AÀ°-am-¡p-¶Xv 

a. International Code of Zoological Name 

b. International Code of Botanical Naming 

c. International Code of Botanical Nomenclature 

d. Indian Code of Botanical Nomenclature 

 

1 

2. Find out the odd one out 
Hä-bms\ Is−-¯pI 

a. Family   b. Class   c. Herbarium  d. Phylum  e. Kingdom 

 

1 

3. Note the relationship between the first two words and find a suitable word for 

the fourth place.  
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw tbmPn-̈  \memas¯ 
hm¡v Fgp-XpI 

Mango : Mangifera indica;  Wheat : ……………… 

 

1 

4. The publications of Linnaeus is known under the title 
ent\-bknsâ- {]kn-²o-I-c-W-§Ä GXp Xe-s¡-«n-emWv Adn-b-s¸Sp¶Xv 
 

1 

5. Taxonomical aid that is based on similarities and dissimilarities of character is 

................ 
kmay-Xbpw Akmay-XbpÅXp-amb kz`m-h-§Ä ASn-Øm-\-am-¡p¶ hÀ¤oIcW 
klm-bn-bmWv ........................... 
 

1 

6. Name the system of providing a name to an organisms and who proposed it 
P-ohnIfpsS \ma-I-c-W-¯n\v D]-tbm-Kn-¡p¶ coXn-bpsS t]sc-gpXpI. BcmWv 
CXv \nÀt±in¨Xv? 
 

1 

 7. Rearrange the following taxonomic categories in ascending order 
hÀ¤oIcW hn`m-K-§sf Btcm-l-W-{I-a-¯nÂ ]p\x-{I-ao-I-cn-¡pI 

[Order, Genus, Kingdom, Species, Family, Class, Phylum] 

 

1 

8. Note the relationship between the first two words and fill in the blanks  
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw hn«p-t]m-b- `mKw ]qcn-̧ n-
¡pI 

Manuals : Information for identification of name of species in an area 

..... ................... : Information on any one taxon 

1 
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Answer the following questions. Each question carries 2 scores 
Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 2 kvtImÀ hoXw 

 

9. Rearrange the following flow chart in the correct order 
Xmsg X¶n-cn-¡p¶ tcJm Nn{Xw icn-bmb coXn-bnÂ ]p\x-{I-ao-I-cn-¡pI 

2 

Animalia           Diptera           Musca           Arthropoda           Insecta           Muscidae           domestica 

10. Scientific name of tiger is given below. Answer the following questions 
ISp-h-bpsS imkv{Xob \maw Xmsg X¶n-cn-¡p¶p. X¶n-cn-¡p¶ tNmZy-§Ä¡v 
D¯cw   Fgp-XpI 

                                      Tigris panthera 

a. If wrong, correct it 

     sXäp-s−-¦nÂ Xncp-̄ pI 

b. Write two rules followed in scientific naming 
     imkv{X \maIc-W¯nsâ c−v \nb-a-§Ä Fgp-XpI 

 

2 

11. Match the following 
tNcpw]Sn tNÀ¡pI 

A B 

Museum 

Herbarium 

Zoological park 

Botanical Garden 

Dried plant specimen 

Live animals 

Live plants 

Preserved plant and animal  
 

2 

   

12. Rearrange the terms in the correct order in the following table 
Xmsg X¶n-cn-¡p¶ ]«n-I-bnse ]Z-§Ä IyXy-ambn t{ImUo-I-cn-¡pI 

2 

Species Genus Family Order Class Phylum 

Angiospermae Monocotyledonae Poales aestivum Triticum Poaceae 

Homo Primata Mammalia sapiens Hominidae Chordata 
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ANIMAL KINGDOM 

One word answer questions. Each question carries 1 score 
Hä hm¡nÂ D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 1 kvtImÀ hoXw 
 

1.  Note the relationship between the first two words and find a suitable word for 

the fourth place. 
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw tbmPn-̈  \memas¯ 
hm¡v Fgp-XpI 

a. Coelenterata: radial symmetry ; platyhelminthes : ……………… 

b. Lizard: Poikilotherm;  crow : …………………………   

  

1 

2. Presence of ............... and bioluminescence  are the important characters in 

ctenophora 
{]Imiw ]pd-s¸-Sp-hn-¡m-\pÅ Ignhpw ............................... km\n-²y-hp-w BWv   
äot\m-t^m-d-bpsS {][m\ kz`m-h-§Ä. 

 

1 

3. Depending on the stage in life ........................... phylum show radial and bilateral 

symmetry 
-Pohn-X-L-«-§Ä¡v A\p-k-cn¨v ................................. ss^ew tdUn-bÂ kna-{Snbpw 
ss_ emä-dÂ kna-{Snbpw ImWn-¡p-¶p. 

 

1 

4. Malpighian tubule is the excretory organ of phylum ........................... 
amÂ]o-Pn-b³ \fn-I-IÄ ..................................... ss^e¯nsâ hnkÀPy\m-h-b-h-amWv  

a. Porifera b. Arthropoda    c. Coelenterata   d. Mollusca  

 

1 

5.  Note the relationship between the first two words and find a suitable word for 

the third place. 
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw tbmPn-̈  aq¶mas¯ 
hm¡v Fgp-XpI 

a. Annelida : Parapodia ; ………………..: Comb plate 

              b.Coelenterata : cnidoblast; ………………….: Water vascular system 

 

1 

6. Note the relationship between first two words and suggest a word for the fourth 

place 
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw tbmPn-̈  \memas¯ 
hm¡v Fgp-XpI 

a. Acoelomate : Tape worm ; Pseudo coelomate: ……………………………….. 

b. Planaria: Flame cells ; Prawn: ………………………………………………… 

 

1 

7. The spongocoel of phylum porifera is lined by ................................. cells 
ss^ew t]mdn- -̂d-bpsS kvt]mt©m-koens\ Bh-cWw sN¿p¶ tImi-§-fmWv ............ 

1 
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8.  Choose the correct answer from the following 
icn-bmb D¯cw Xnc-sª-Sp-s¯-gp-XpI 

Icthyophis is an example for  ............................. 

CkvXntbm-̂ nkv  ................... \v DZm-l-c-W-amWv 

a. Limbless amphibian    b. Limbless mammal   c. Limbless reptile   d. Egg laying mammal 

 

1 

9. Pick  out the acoelomate animal from the following  
NphsS X¶n-cn-¡p¶hbnÂ \n¶v Fkn-tem-taäv Pohn GsX¶v Xnc-sª-Sp-¡pI 

 a. Hookworm   b.  Round worm    c. Filarial worm    d. Tapeworm                  

 

1 

10. Which one of the following is a fresh water sponge ? 
X¶n-cn-¡p¶hbnÂ GXmWv ip²-Pe kvt]m©vv ? 

a. Euspongia  b. Sycon  c. Spongilla   d. Adamsia 

 

1 

11. The swimming appendages in aquatic annelids are ................................ 
Pe¯nÂ hkn-¡p¶ A\-en-Up-I-fpsS \o´-en-\pÅ Ah-b-h-amWv ............................ 
 

1 

12. An egg laying mammal is ..................................... 
ap«-bn-Sp¶ Hcp kkvX-\n-bmWv ...................................... 

a. Pteropus  b. Macropus  c. Delphinus   d. Ornithorhynchus 

 

1 

Answer the following questions. Each question carries 2 scores 
Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 2 kvtImÀ hoXw 
 

13. Figure A and B represent two different classes of fishes. Identify the classes. 

Write the difference between these classes 

A, B Nn{X§fnÂ c−v hyXykvX ¢mkpI-fn-epÅ aÕy-§sf X¶n-cn-¡p-¶p. 
¢mkpI-Ä Xncn- -̈dnªv Ah X½n-epÅ hyXymkw Fgp-XpI  

 
 

2 

14. Birds are  well adapted for flying . Write down any two flight adaptations.  
]d-¡p-¶-Xn\v \Ã A\p-Iq-e-\-§Ä DÅ Pohn-I-fmWv ]£n-IÄ. GsX¦nepw c−v  
A\p-Iq-e-\-§Ä Fgp-XpI 
 

2 

15. Categorise the following animals based on symmetry 
 kna-{SnbpsS ASn-Øm-\-̄ nÂ X¶n-cn-¡p¶ Pohn-Isf Xcw Xncn-¡pI 

(Physalia , Tapeworm , Fasciola , Adamsia ) 

2 
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16. Find the odd one out and give reason. 
Häbms\ Is−-̄ pI ImcWw Fgp-XpI      

(Silver fish,  Cuttle fish, Dog fish, Star fish) 

 

2 

17. Name the phylum in which the following cells/organs are present. 
X¶n-cn-¡p¶ tImi-§tfm/Ah-b-htam ImW-s¸-Sp¶ ss^e¯nsâ t]sc-gp-XpI 

       a. Radula                          b. Cnidoblast 

c.  Flame cell                    d. Proboscis gland  

 

2 

18. The flow of sea water through the canal system of sponges is shown in a flow 

chart. Fill the gaps marked A and B. 
kvt]m³Pknsâ ico-c-̄ nse I\mÂ hgn ISÂ Pew IS-¶p-t]m-Ip¶ tcJm 

Nn{Xw X¶n-cn-¡p-¶p. A, B F¶v tcJs¸Sp-̄ n-bn-cn-¡p-¶Xv Xncn-̈ -dn-bpI 

Sea water                          A                      Spongocoel                           B                         outside 

  

2 

19. Find the odd one out .Give reasons. 
Häbms\ Is−-̄ pI ImcWw Fgp-XpI 

(Sea anemone,  Sea fan, Sea cucumber, Sea pen ) 

 

2 

20. “All vertebrates are chordates but all chordates are not vertebrates.” Do You 

agree. Justify the answer.  
FÃm shÀ«n-t{_-äp-Ifpw tImÀtU-äp-I-fmWv F¶mÂ FÃm tImÀtU-ä-pIfpw 

shÀ«n-t{_-äp-IfÃ. \n§Ä tbmPn-¡p-¶p-t−m ? D¯cw km[q-I-cn-¡pI 

 

2 

21. Pick out the odd one and justify your answer. 
Häbms\ Is−-̄ pI D¯cw km[q-I-cn-¡pI 

a. Gills, Trachea, Malpighian tubules, Book lungs 

b. Dog, Platypus, Elephant, Rat      

    

2 

22. a. Identify the following diagram and label the parts A and B. 

   Xmsg sImSp-̄ n-cn-¡p¶ Nn{Xw Xncn-̈ -dnªv A, B `mK§fpsS t]sc-gp-XpI 

b. List out the peculiar characters that help in Identifying it. 
    Nn{Xw Xncn- -̈dnbm³ klm-bn¨ khn-tij kz`m-h-§Ä Fgp-XpI 

 

2 
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23. The following chart shows the classification of vertebrata. Replace the blank 

spaces with appropriate terms. 
Xmsg sImSp-̄ n-cn-¡p¶ \s«-ÃpÅ Pohn-I-fpsS hÀ¤oIcW NmÀ«v \nco-£n¨v 

tbmPn¨ ]Zw D]-tbm-Kn¨v hn«p-t]mb `m-K-§Ä ]qÀ¯nbm¡pI 

                  Vertebrata 

 

 ................                                                Gnathostomata 

 

           ....................                              ...................                                  Tetrapoda 

 

                                                          1. Chondrichthyes                           1. Amphibia 

                                                          2. ........................                            2. .............. 

 3. Aves 

 4. Mammals 

2 

24. a. Identify the phylum whose larvae are bilaterally symmetrical  but adults are  

     radially  symmetrical. 
   emÀh ss_ emä-dÂ kna-{Snbpw apXnÀ¶h tdUn-bÂ kna-{Snbpw ImWn-¡p-¶   
   ss^ew GXv ? 

b. Mention  any two salient features of that phylum 
    Cu ss^e¯nsâ c−v kz`m-h-k-hn-ti-j-X-IÄ Fgp-XpI 
 

2 

25.  Complete the table  
]«nI ]qÀ¯nbm¡pI 

Phylum Excretory Organ Distinct Features 

Arthropoda ........................... Chitinous exoskeleton 

........................ Flame cells Triploblastic acoelomate 

Annelida ............................. .................................... 

    

2 

26. Categorise the following characters  into two groups by giving appropriate 

headings  
DNn-X-amb Xe-s¡«v \ÂIn Xmsg X¶n-cn¡p¶ kz`m-h-§sf Xcw-Xn-cn-¡pI. 

 [ Notochord absent, Heart is dorsal, Post anal tail absent,  gill slits are absent, Heart 

is ventral, Pharynx perforated by gill slits] 

 

2 

27. Petromyzon is an example for protochordates. Do you agree? Justify the answer. 

s]t{Sm-a-bvk¬ t{]mt«mtImÀtU-äp-IÄ¡v DZm-l-c-W-amWv. \n§Ä tbmPn-      
¡p-¶p-t−m? D¯cw km[q-I-cn-¡pI 

2 
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28. Observe the picture A and B and answer the following questions 

Nn{Xw A bpw B bpw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 

a. Identify the figure A and B  

     A, B F¶o Nn{X-§Ä- Xncn-̈ -dn-bpI 

b. Differentiate between the two characters in the figure. Give one example of a  

     phylum for each  
     X¶n-cn-¡p¶ Nn{X¯nse c−v khnti-j-X-IÄ X½n-epÅ hyXymkw  
   FgpXpI. Chbv¡v Hmtcm¶n\pw DZm-l-c-Wambn  GsX-¦nepw Hcp   
   ss^e¯nsâ   t]sc-gpXpI 

 

2 

29. Two characters of an invertebrate animal are given below. 
C³shÀ«n-t{_äv Pohn--bpsS c−v kz`m-h-k-hn-ti-j-X-IÄ X¶n-cn-¡p¶p 

i) Soft bodied animals ii) Rasping organ called radula present  

a. Identify the phylum   
     ss^ew Xncn- -̈dn-bpI 

b. Write other two features of that phylum 
     ss^e¯nsâ aäv c−v kz`m-h-k-hn-ti-j-X-IÄ Fgp-XpI 

c. Write two examples of this phylum 
     Cu ss^e¯nsâ  c−v DZm-l-c-W-§Ä Fgp-XpI 

 

2 

30. Observe the figure. Answer the following questions 
Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 
a. Identify the coelom in A and B  

     A, B F¶n-h-bnse kotem-ap-IÄ Xncn- -̈dn-bpI 

b. Write one example for an animal showing coelom A and B  
     Cu kotem-ap-IÄ ImWp¶ Pohn-bpsS Hcp DZm-l-c-Ww Fgp-XpI 

2 
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31. After observing a starfish in an aquarium, your friend commented that it is a 

lower invertebrate without head, eyes and legs. Do you agree this view? 

Evaluate this statement with reasons. 
\£-{X-a-Õys¯ AIzm-dn-b-¯nÂ I−n«v Xe-bpw, I®pw, Imep-Ifpw CÃm¯ 
C³shÀ«n-t{_-äp-IfmWv Ch-sb¶v \n§fpsS kplr v̄ Ah-Im-i-s¸«p. \n§Ä 
tbmPn-¡p-¶p-t−m? Imc-W-k-lnXw hne-bn-cp-¯pI 
 

2 

32. Define the following term and name the phylum/class which exhibits this 

character. 
Xmsg X¶n-cn-¡p¶ ]Z-§Ä \nÀh-Nn-¡pI. GXv ss^ew/¢mÊn-emWv Cu 
kz`mhw ImWp-¶Xv? 

                           a. Metagenesis             b. Poikilotherms 
 

2 

Answer the following questions. Each question carries 3 scores 
Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 3 kvtImÀ hoXw 
 

33. Observe the picture A and B and answer the following questions 

Nn{Xw A bpw B bpw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 

 

a. Identify the animals A and B and phylum to which they  

    belong 

    A, B F¶v tcJ-s¸Sp-¯nb PohnIsf Xncn-̈ -dn-bpI Ch  
  DÄs¸-Sp¶ ss^ew GXv ? 

b. Write down the type of coelom in these organisms 
     Cu PohnIfpsS kotem-ap-IÄ Xncn-̈ -dn-bpI 

c. Compare the type of coelom in A and B  

     A, B PohnIfpsS kotem-ap-IfpsS hyXymkw Fgp-XpI 
 

 

3 

34. Observe the figure. Answer the following questions 
Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 

a. Identify the cell. Write the phylum in which it is present. 
   tImiw GsX¶v Xncn-̈ -dnªv GXv ss^e¯nemWv ImWp- 
   ¶sX¶v Fgp-XpI. 

b. Write any two functions of this cell. 
     Cu tImi¯nsâ c−v [À½-§Ä Fgp-XpI. 

c. Write any two distinct features of the phylum . 
     Cu ss^e¯nsâ  c−v khn-ti-j-XIÄ Fgp-XpI. 

 

3 

35. Match the related items from the three columns   
tNcpw]Sn tNÀ¡pI  

Phylum/Subphylum/Class Distinct character Example 

Urochordata Mouth without jaws Ancylostoma 

Aschelminthes Notochord on the larval tail Myxine 

Cyclostomata Pseudocoelomate Salpa 
 

3 

  



11 

 

 

36. Organisms of this phylum are radially symmetrical ,triploblastic and coelomate 

with complete digestive system .  
tdUn-bÂ kna-{Sn, {Snt¹m»m-ÌnIv, kotem-taäv ]qÀW Zl-\-hy-h-Ø-bp-apÅ 
PohnIfpÅ Cu ss^e¯nÂ DÅXvv? 

a. Identify the phylum. 
     ss^ew Xncn- -̈dn-bpI. 

b. Give an example for this phylum. 
     Cu ss^e¯nsâ  HcpZm-l-c-W-w Fgp-XpI. 

c. Write other distinct features of the phylum. 
    Cu ss^e¯nsâ aäp kz`m-h-k-hn-ti-j-X-IÄ Fgp-XpI 

 

3 

37. Match the columns A and B  
tNcpw]Sn tNÀ¡pI 

A B 

Pavo Sea horse 

Chameleon Tree frog 

Hyla Camel 

Hippocampus Saw fish 

Pristis Tree lizard 

Camelus Peacock 
 

3 

   

38. a. Which of the following animals exhibit metamerism? 
     Xmsg X¶n-cn-¡p¶hbnÂ saäm-sa-dnkw ImWn-¡p¶ Pohn GXv 

          ( Ascaris, Obelia , Earthworm ,Crab ) 

b. Define the term metamerism and the phylum in which it is present? 
     saäm-sa-dnkw F¶mÂ F´v? GXv ss^e-̄ nÂ ImWp¶p? 

c. Write other two features of the phylum 

     Cu ss^e¯nsâ aäv c−v kz`m-h-k-hn-ti-j-X-IÄ Fgp-XpI 

 

3 
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STRUCTURAL ORGANISATION IN ANIMALS 

One word answer questions. Each question carries 1 score 
Hä hm¡nÂ D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 1 kvtImÀ hoXw 
 

1.   Name the connective tissue located mainly beneath the skin which is specialised 

to store fat. 
Xz¡n-\-Sn-bnÂ ImWp¶ sImgp¸v kw`-cn-¡p¶ tbmPIIe-bpsS t]sc´v? 
 

1 

2. ----------- helps in the removal of excretory products from the haemolymph of 

cockroach 
 ]mäbpsS hnkÀÖ\ hkvXp-¡Ä lotamenw^nÂ \n¶pw ]pdw XÅp-¶Xv 
..................... sâ klm-b-¯m-emWv 
 

1 

3. Which organ helps in the grinding of food in cockroach ? 

]mä-bpsS GXv Ah-b-h-amWv `£Ww Ac-bv¡p-hm³ klm-bn-¡p-¶Xv 

a. Crop b. Rectum c. Hepatic caeca d. Gizzard 

 

1 

4. Note the relationship between the first two words and find a suitable word for 

the fourth place 
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw tbmPn-¨ \memas¯ 
hm¡v Fgp-XpI 

Bones : Osteocyte ; Cartilage : --------------- 

 

1 

5. Which membrane help to join the sclerites in cockroach 

]mä-bpsS kv¢odo-äp-Isf X½nÂ _Ôn-̧ n-¡p¶ kvXcw GXv? 
 

1 

6.  Name the small holes present on the lateral side of the body of cockroach that 

help in respiration. 
]mä-bpsS ico-c¯nsâ hi-§-fnÂ ImWp¶ izk-\-¯n\v klm-bn-¡p¶ sNdp-kp-
jn-c-§sf hnfn-¡p¶ t]sc´v? 
 

1 

7.  Note the relationship between the first two words and find a suitable word for 

the fourth place 
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw tbmPn-¨ \memas¯ 
hm¡v Fgp-XpI 

Skeletal muscle  to bone : Tendon ; Bone to bone :  --------------- 

 

1 

8. The cells that support and protect the neurons in nervous system is ………………….. 
\mUo-hy-h-Ø-bnse \mUo-tIm-i-§Ä¡v ]n´p-Wbpw kwc£Whpw \ÂIp¶ 

tImi-§-fmWv …………………………… 

 

1 

9. The scientific name of cockroach is ………………………… 

]mä-bpsS imkv{Xob \maamWv ………………………. 

1 
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10. Note the relationship between the first two words and fill the blanks  
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw hn«p-t]m-b- `mKw ]qcn-̧ n-
¡pI 

Goblet cells : unicellular gland ; ……………………………..: multicellular gland 

 

1 

Answer the following questions. Each question carries 2 scores 
Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 2 kvtImÀ hoXw 
 

11. Identify the odd one. Give reason 
Häbms\ Is−-̄ pI ImcWw Fgp-XpI 

Tendon, Neuron, Blood , Areolar tissue 
 

2 

12. The structural and functional link between two cells is called cell junction. Based 

on the statement answer the following questions. 
c−v tImi-§Ä¡nS-bnse LS-\m-]-chpw [À½-]-c-hp-amb _Ô-amWv skÂ 
PwKvj³. Cu {]kvXm-h-\sb ASn-Øm-\-am¡n Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v 
D¯cw Fgp-XpI 

a. Name the different types of cell junctions 
    skÂ PwKvj\pI-fpsS t]sc-gp-XpI 

b. Write down the function of any two types of cell junctions 
    GsX-¦nepw c−v skÂ PwKvjsâ [À½w Fgp-XpI 

 

2 

13. The compound eyes of cockroach help in nocturnal vision. Based on the 

statement answer the following questions. 
]mä-bpsS tIm¼u−v I®p-IÄ cm{Xn-Im-gvNbv¡v klm-bn-¡p¶p. Cu {]kvXm-h-
\sb ASn-Øm-\-am¡n Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI  

a. Name the units in compound eye 
    tIm¼u−v I®p-IfpsS ASn-Øm\ LS-I¯nsâ t]sc´v? 

b. The vision through the compound eye is called ……………………………  

     tIm¼u−v I®p-Ifp]-tbm-Kn-¨pÅ ImgvNsb …………………… F¶v   
   ]dbp¶p. 
 

2 

14. Differentiate between exocrine and endocrine glands. 
_lnÀ-{kmhn{K-Ùnbpw A´-{kmhn{K-Ùnbpw X½nÂ thÀXn-cn-s -̈gp-XpI 
 

2 

15.  Fill in the blanks 
]«nI ]qÀ¯nbm¡pI 

Striated muscle ..................................... Cardiac Muscle 

............................... Striations absent Striations  present 

Found attached to bones ...................................... Present only in the heart 

................................. Cells are fusiform shape Branched with intercalated disc 

 

2 
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16. You are given two cockroaches and the teacher asks to display the mouth parts 

of a male cockroach. 
c−v ]mä-Isf X¶n«v So¨À B¬ ]mä-bpsS hmbbpsS hnhn[ `mK§Ä {]ZÀin-
¸n-¡p-hm³ Bh-iy-s¸-«p. 

a. How will you identify the male cockroach? 
      B¬ ]mä-sb Xncn- -̈dn-bp-¶-sX§s\? 

b. Name the mouth parts of cockroach 
      ]mä-bpsS hmbbpsS hnhn[ `mK§Ä Gh? 
 

2 

17. The figures of two tissues are given below. 
c−v hyXykvX Ie-I-fpsS Nn{Xw \ÂIn-bn-cn-¡p¶p 

 
a. Identify A and B 

     A bpw B bpw Xncn-̈ -dn-bpI 

b. Write any two differences between A and B 

     A bpw B bpw X½n-epÅ c−v hyXymkw Fgp-XpI 

 

2 

   18. The following chart represents some connective tissues. Fill it with suitable 

terms 
tbmPIIe-I-fpsS tcJm-Nn{Xw NphsS X¶n-cn-¡p-¶p. DNn-X-amb ]Zw \ÂIn   
]qcn-̧ n-¡pI  

Connective Tissue 

 

 

          ...........................                              Dense connective tissue                  ..................... 

 

 

............       Adipose Tissue        Dense Regular         Dense Irregular      ............     Cartilage 

 

2 

   19. On seeing the excreta of cockroach your friend commented that cockroach does 

not excrete urea. 

]mä-bpsS hnkÀÖyw I−v \n§-fpsS Iq«p-Im-c³ ]mä-bpsS hnkÀÖy¯nÂ 
bqdnb CÃm-sb¶v A`n-{]m-b-s¸«p 

a. Do you agree with your friend’s statement? 
   \n§-Ä AXn-t\mSv tbmPn-¡p-¶pt−m? 

b. Name the excretory product of cockroach 
   ]mä-bpsS hnkÀÖy hkvXp GXv? 

2 
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20. Complete the table.  
]«nI ]qÀ¯nbm¡pI 

A B C 

.................................. Cube like cells Ducts of glands 

................................. Cells with cilia ............................. 

Adipose tissue Cells called adipocytes .............................. 
 

2 

   

21.  The blood circulatory system of cockroach is different from that of man. Based 

on the statement answer the following questions.  
]mäbpsS cà-]-cy-b\ hyhØ a\p-jy-cp-tS-XnÂ \n¶v hyXy-Ø-am-Wv. Cu 
{]kvXm-h-\sb ASn-Øm-\-am¡n Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-
XpI 

a. Name the type of circulation in cockroach? How does it differ from the    

    circulation of man? 
   ]mäbpsS cà-]-cy-b\ hyhØbpsS t]sc´v? a\p-jy-cp-tS-XnÂ \n¶pÅ  
   hyXymkw F´v? 

b. What do you mean by the term haemocoel? 
     lotam-koÂ F¶mÂ F´v? 
 

2 

22. Categorise the following characters into two groups by giving appropriate 

headings  
DNn-X-amb Xe-s¡«v \ÂIn Xcw-Xn-cn-¡pI  

[cells are present in the lacunae, Inter cellular matrix is solid and pliable, cells are 

called osteocytes, Inter cellular matrix is hard and non-pliable, cells are enclosed 

in small cavities, cells are called chondrocytes] 

 

2 

23. Observe the figure and answer the questions that follow 
Nn{Xw \nco-£n¨v Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 
a. Identify the tissues A and B 

     A bpw B bpw Ie-IÄ Xncn- -̈dn-bpI 

b. Write down any two examples of tissue labelled as A and give their function 

     A F¶v tcJ-s¸-Sp-¯nb Ie-bpsS c−v DZmlcW§Ä Fgp-Xn [À½-sa-gp-XpI. 

2 
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24. 

 

 

 

 

 

 

 

 

 

 In a biology class your teacher displayed the picture of the digestive system of 

cockroach and asked you to answer the questions that follow. 
_tbm-fPn ¢mknÂ So¨À ]mä-bpsS Zl\ hyh-Ø-bpsS Nn{Xw ImWn¨ tijw 
Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-Xm³ Bh-iy-s¸-«p. 

 
 

a. Label the parts A ,B C and D  

     A, B, C, D Xncn- -̈dn-bpI 

b. Suggest the function of part marked as C  

     ‘C’ bpsS [À½w Fgp-XpI 

 

2 
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BIOMOLECULES 

One word answer questions. Each question carries 1 score 
Hä hm¡nÂ D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 1 kvtImÀ hoXw 
 

1. Which one of the following is a glucose transporter? 
Xmsg X¶n-cn-¡p¶hbnÂ ¥qt¡mkv hml-I³ GXv ? 

a. Collagen  b. Trypsin   c. GLUT-4   d. Cellulose 

 

1 

2. Nucleic acid acting as enzyme is called ………………………………. 

ssPh-cm-km-án-bmbn {]hÀ¯n¡p¶ \yq¢nIv Bkn-UpIsf ……… F¶v      
hnfn-¡p¶p 

 

1 

3. Identify the lectin present in the plant body from the followings 
X¶n-cn-¡p¶hbnÂ kky-§-fnÂ ImW-s¸-Sp¶ seIvän³ GXv ? 

a. Abrin   b. Concanavalin A   c. Vinblastin   d. Codeine 

 

 

4. Note the relationship between the first two words and find a suitable word for 

the fourth place 
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw tbmPn-̈  \memas¯ 
hm¡v Fgp-XpI 

Non protein part of Enzyme: Cofactors; Protein part of Enzyme : ……………………….  

   

1 

5. Inhibition of succinic dehydrogenase enzyme by malonate is an example for………. 
kIvkn\nIv Uossl-t{Um-Pn-t\bvkv F³sskansâ {]hÀ¯\w atem-tWäv 
ImcWw XS-Ê-s¸-Sp-¶Xv .............................. \v DZm-l-c-W-amWv 

 

1 

6. ................. vitamin is present in coenzyme NAD and NADP 

.............. hnäm-an-\mWv tImF³sskapIfmb NAD bnepw NADP bnepw ImWp-¶Xv 

 

1 

Answer the following questions. Each question carries 2 scores 
Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 2 kvtImÀ hoXw 

 

7. Find the odd  one from the group. Give reason. 
Häbms\ Is−-̄ pI. ImcWw Fgp-XpI 

( Glutamic acid , Lysine , Valine , Collagen ) 

 

2 

8. Compare a nucleotide with a nucleoside 

\yq¢ntbm-ssäUpw \yq¢ntbm-sskUpw X½nÂ Xmc-Xayw sN¿pI. 

 

2 

9. Differentiate between essential and non-essential aminoacids. 
Fk³jyÂ Aan-t\m-A¾-§fpw t\m¬ Fk³jyÂ Aan-t\m-A¾-§§fpw 
X½nÂ thÀXn-cn-s -̈gp-XpI 

2 
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10. Protein is a heteropolymer and not a homopolymer. Comment. 
amwkyw Hcp slän-tdm-t]m-fn-aÀ BWv tlmtamt]m-fn-aÀ AÃ. km[q-I-cn-¡p-I. 
 

2 

11. Observe the figure and answer the following questions 
Nn{Xw \nco-£n¨v Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 

a. Identify the structure of A and B 

     A bpw B bpw LS\-IÄ Xncn-¨-dn-bpI  

 

b. Write the difference between A and B 

  A bpw B bpw X½n-epÅ hyXymkw Fgp-XpI  
 

 

2 

12. a.  Identify the given molecules A, B and C 

      A, B  & C F¶v AS-bm-fs¸Sp¯nb X³am-{X-Isf Xncn-¨-dn-bpI 

b.  Identify the ion in the figure labelled as  D  

      D F¶v AS-bm-fs¸Sp¯nb Nn{X¯nse Atbm¬ Xncn-̈ -dn-bpI 

 

2 

13. Analyse the graph showing the activity of salivary amylase and answer the 

following questions  
kssehdn Assa-bn-teknsâ {]hÀ¯\¯nsâ {Km^v \nco-£n¨v X¶n-cn-¡p¶ 
tNmZy-§Ä¡v D¯cw Fgp-XpI 

 

a. Which is the optimum P
H
 for salivary amylase ? 

     ksse-hdn Assa-teknsâ A\p-Iqe ]n. F¨v F{X ? 

b. Why does the activity decline below the optimum P
H
 value? 

     A\p-Iqe ]n. F¨v aqeyw Ipd-ªmÂ F³sskansâ {]hÀ¯\w Ipd-bm³  
   ImcWw F´v ? 

2 
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14. Identify the class of enzyme which catalyses the following reaction. 
Xmsg X¶n-cn-¡p¶ cmk-{]-hÀ¯\s¯ \nb-{´n-¡p¶ ssPh-cm-k-Xz-cI¯nsâ 
hn`mKw GXv ? 

                             a) S reduced +  S’ oxidised
                           
��������� S oxidised + S�reduced 

                             b) S − G +  S’ 
                           
��������� S + S� − G 

                             c) CX − CY 
                           
��������� X − Y + C = C 

                             d) Linking of two compounds 

 

2 

15. Name the chemical bonds that link the following molecules 
X¶n-cn-¡p¶ X³am-{X-Isf X½nÂ _Ôn¸n¡p¶ cmk-_-Ô\w GsX¶v Fgp-XpI 

a.  Aminoacids in a protein molecule 
    t{]m«o-\p-I-fnse Aan-t\m-B-kn-Up-IÄ 

b.  Nucleotides in nucleic acids 
    \yq¢nIv Bkn-Unse \yq¢ntbm-ssäUpIÄ 

 

2 

16. Observe the graph and answer the questions given below. 
{Km v̂ \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 
a. What is meant by optimum temperature? 
    A\p-Iqe Dujvamhv F¶m-se´v ? 

b. The enzyme activity does decline at high or low temperature. Give reason ? 
   Dujvamhnsâ Afhv IqSp-Itbm Ipd-bpItbm sNbvXmÂ F³sskansâ  
   {]hÀ¯\w Ipd-bp¶p. ImcWw Fgp-XpI ? 
 

2 

17. Enzymes are biological catalysts which regulate various biochemical reactions. 

Explain the following reaction. 

ssPh-cm-k-Xz-cIw ssPhnIcmk-{]-hÀ¯\s¯ \nb-{´n-¡p¶p. X¶n-cn-¡p¶ {]-
hÀ¯\w hni-Z-am-¡pI 

$ + %
                            
���������� $%

                            
���������� $&

                            
���������� $ + & 

 

2 

18. Answer the following questions 
Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

a. The most abundant protein in animal world 
     P´ptem-I-¯nÂ Gähpw IqSp-XÂ ImWp¶ amwkyw  

b. The most abundant protein in the whole biosphere 
     ssPh-a-WvU-e-¯nÂ Gähpw IqSp-XÂ ImWp¶ amwkyw 

2 
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19. Find out the differences between DNA and RNA and fill the table given below 

DNA bpw  RNA bpw X½n-epÅ hyXymkw a\-Ên-em¡n ]«nI ]qÀ¯oIcn-¡pI  

DNA RNA 

……………. Ribonucleotides 

Deoxyribose Sugar ………………. 

……………… Single Strand 

Thymine ………………….. 
 

2 

20. Hydrogen peroxide (H2O2) is a harmful compound produced in cell. Cellular 

enzymes break down hydrogen peroxide to water and oxygen. 
tImi-¯n-\p-Ånse F³sskapIÄ tZmj-Im-cn-bmb ssl{U-P³                

s]tdm-IvsskUnsâ (H2O2) hnL-Sn¸n¨v Pehpw HmIvknP-\pw DXv¸m-Z¸n-¡p-¶p. 

a. Identify the enzymes that help in the breakdown of H2O2. 

     H2O2 sâ hnL-S-\-¯n\v klm-bn-¡p-¶ F³sskapIÄ Gh ? 

b. Name the prosthetic group of the enzyme 
    Cu F³sskansâ t{]mkvsXänIv {Kq¸v GXv ? 
 

2 

21. Observe the following diagrams and answer the questions 
Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 

a. Identify A, B, C and D 

     A apXÂ D hscbpÅ kwbp-à-§sf Xncn-̈ -dn-bpI 

b. Name the compound obtained by the fusion of A    

     and B 

     A bpw B bpw kwtbm-Pn-̈ mÂ In«p¶ kwbp-àw  
   GXv ? 
 

 
 

2 

22. Complete the table     ]«nI ]qÀ¯nbm¡pI       

A B 

Oxidoreductase ................................... 

..................................... Transfer of a group 

Hydrolases .................................... 

...................................... Removal of groups 
 

2 

23. In an enzyme non-protein constituents called cofactors are bound to make the 

enzyme catalytically active.  
t\m¬ t{]m«o³ `mKamb tIm^m-Ivä-dpIÄ F³sskansâ {]hÀ¯\w Imcy-£-a-am-
¡p-¶p. 

a. Name the protein part of the enzyme 
     F³sskansâ t{]m«o³ `mK¯nsâ t]sc´v ? 

b.Mention any two types of cofactors with example 
    GsX-¦nepw c−v Xcw tIm^m-Ivä-dpIÄ DZm-l-c-W-k-lnXw Fgp-XpI 

2 
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Answer the following questions. Each question carries 3 scores 
Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 3 kvtImÀ hoXw 

 

24. Observe the graph and answer the questions given below. 
{Km v̂ \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 
a. Identify the figure 
    Nn{Xw Xncn- -̈dn-bpI 

b. What is meant by Vmax value? 

     Vmax aqeyw F´mWv? 

c. Why Vmax  doesnot exceed by any further rise in substrate concentration? 

   k_vkvt{Sänsâ Afhv ]cn-[n¡¸pdw IqS-p¶Xv Vmax \v hyXymkw D−m-In-Ã.  
   ImcWw F´v? 

 

3 

25. Match the column A with B and C 

tNcpw]Sn tNÀ¡pI 
 

Monomer chemical bond Polymer 

Glucose phospho diester Nucleic acid 

Amino acids Glycosidic Carbohydrate 

Nucleotide Peptide Protein 

        

3 

26. Observe the graph and answer the questions given below. 
{Km v̂ \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

3 

 

a. Identify the graph 
   {Km^v Xncn-̈ -dn-bpI 

b. Identify A and B 

    A bpw B bpw Xncn-¨-dn-bpI 

c. How does an enzyme increase the rate of a   

     biological reaction ? 

  F§-s\-bmWv F³sskw Hcp ssPh-{]-hÀ¯\-   
  ¯nsâ thKX Iq«p-¶Xv ? 
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DIGESTION AND ABSORPTION 

One word answer questions. Each question carries 1 score 
Hä hm¡nÂ D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 1 kvtImÀ hoXw 

 

1. Find the odd one out 
Häbms\ Is−-̄ pI 

a. Pepsinogen   b. Trypsinogen   c. Chymotrypsinogen   d. Nucleases 

 

1 

2. Intestinal juice is also called as ......................................... 
IpSenÂ \n¶pÅ Zl-\-ck-¯ns\ .................................. F¶v hnfn-¡p¶p 

a. succus entericus    b. pepsin   c. amylase   d. chymotrypsin                    

 

1 

3. In human beings dentition is heterodont. This condition means 
a\p-jy-\nse sUâoj³ slä-tdm-tUm−v BWv. CXnsâ AÀ°w F´mWv ? 

a. Presence of two  types of teeth                   b. presence of two sets of teeth 

c. presence of different types of teeth             d. teeth are placed in sockets of jaw  

                        

1 

4. Note the relation in the first pair and complete the second pair 
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw c−m-as¯ tPmUn 
]qcn-̧ n-¡pI 

Opening of Stomach: Gastro-oesophageal sphincter;  

Opening of hepato pancreatic duct : ........................ 

 

1 

5. --------------- is the largest gland in the human body 
a\pjy ico-c-̄ nse Gähpw henb {KÙn-bmWv ................................................ 

a. Pancreas   b. Stomach    c. liver   d. Thyroid 

 

1 

6. Identify the enzyme “A” in the equation 

A F¶v ka-hm-Iy-¯nÂ tcJ-s¸-Sp-¯n-bn-cn-¡p¶ F³sskw GXv ? 

   Chymotrypsinogen
             )*+,-. /               
����������������� Chymotrypsin 

 

1 

7. ----------- is proteolytic enzyme found in gastric juice of infants which helps in the 

digestion of milk proteins. 
Ipªp§fpsS Bam-ib§fnÂ ImWp-¶Xpw ]mense amwkyw Zln-̧ n-
¡p¶Xpamb cmkmán ............... BIp¶p 

a. HCl    b. Rennin   c. Trypsin  d. Bile   

 

1 

8. Find out the relation and fill the gap 
]Z-§-fpsS _Ôw a\-Ên-em¡n hn«p-t]mb `mKw ]qcn-̧ n-¡pI 

Buccal cavity:   bolus ; Stomach:    --------------------                 
 

1 
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Answer the following questions. Each question carries 2 scores 
Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 2 kvtImÀ hoXw 
 

9. Dietary deficiency of proteins is commonly known as PEM 
Blm-c-̄ nÂ amwky¯nsâ A`m-h¯nsâ ^eambn D−m-Ip¶ tcmKm-h-Ø-

bmWv PEM 

a. Expand PEM 

     PEM sâ ]qÀ®cq]w Fgp-XpI 

b. Name any two examples of PEMs 

    PEMs sâ GsX-¦nepw c−v DZm-l-cWw Fgp-XpI 

 

2 

10. Identify enzyme/activator marked as A and complete the following equations. 

A F¶v ka-hm-Iy-̄ nÂ tcJ-s¸-Sp-¯n-bn-cn-¡p¶ F³sskw/BIvän-th-äÀ FgpXn 
Xmsg X¶n-cn-¡p¶ cmk-{]-hÀ¯\§Ä ]qÀ¯nbm¡pI 

                            a. Pepsinogen
                                  /               
������������������ Pepsin 

                            b. Trypsinogen
                               /               
����������������� Trypsin 

                            c. Nucleotides
             )*+,-. /               
����������������� Nucleosides 

                            d. 456768597:
             )*+,-. /               
����������������� Aminoacids 

 

2 

11. Observe the following diagram and answer the questions. 
Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 

a. Identify the parts marked  A & B 

    A, B F¶v AS-bm-fs¸Sp¯nb `mK§Ä Xncn-̈ -dn-bpI 

b. Name the secretion stored in A and write its role. 

    ‘A’ bnÂ kw`-cn-¡p¶ {khw GXv ? AXnsâ  [À½w F´v ? 

 

2 

12. Write the steps of protein digestion taking place in your alimentary canal. 
Zl-\]Y-¯nÂ t{]m«o³ Zl-\¯nsâ L«-§Ä Fgp-XpI 

 

2 
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13. Steps in the digestion of food molecule in the duodenum are given below. 

Identify the enzymes labelled as A, B, C & D. 

Uyqtbm-Un-\-̄ nse Zl-\¯nsâ L«-§Ä Xmsg X¶n-cn-¡p¶p. A, B, C & D F¶v 
AS-bm-fs¸Sp¯nb F³ssk-ap-IÄ Xncn- -̈dn-bpI 

                                      a. Maltose
                       /               
�������������� Glucose + Glucose 

                                      b. Lactose
            =>?@>A.               
��������������� Glucose + B 

                                      c. Sucrose
             CD?E>A.               
���������������� Glucose + C 

                                      d. Monoglycerides
              F               
����������� Fattyacids + glycerol 

 

2 

14. Find the odd one out. Give reasons. 

Häbms\ Is−-̄ pI. ImcWw Fgp-XpI. 

 a.  parotid gland  b. sublingual gland  c.  gastric gland   d. submandibular gland   

                

2 

15. The end products of fat digestion are not absorbed directly in the blood stream. 

Justify  
sImgp¸nsâ Zl-\-̂ -e-ambn e`n-¡p¶ DÂ¸-¶-§Ä t\cn«v cà-¯n-tebv¡v  
BKo-cWw sN¿p-¶n-Ã. km[q-I-cn-¡p-I. 

   

2 

16. Observe the equation and answer the following questions 
ka-hm-Iy-w \nco-£n-̈ v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

Starch
             )*+,-. /               
����������������� Maltose 

 a. Name A and the ideal P
H
 for its action. 

     A Xncn- -̈dnª tijw AXnsâ A\p-Iqe ]n. F¨v aqeyw Fgp-XpI 

b. Name the antibacterial enzyme present in saliva 
     Dan-\o-cnse AWp-_m[ XS-bp¶ F³sskw GXv ?                  

         

2 

17. Match the following  
tNcpw]Sn tNÀ¡pI 

A B 

Pancreas Rennin 

Stomach Nuclease 

Intestine Bile 

Liver Lipase 

 Amylase 
 

2 
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18. a. Bile secreted by liver doesn’t contain any enzymes. Mention the importance of  

     bile in digestion.  
   Ic-fnÂ \n¶pw DÂ]m-Zn-̧ n-¡p¶ ]n¯-c-k-¯nÂ F³sskapIÄ CÃ.            
   Zl-\¯nÂ ]n¯-c-k-¯nsâ {]m[m\yw F´v ? 

 b. Name two bile pigments.                                                                                 
      ]n¯-c-k-̄ nse c−v ]nKvsaâpIÄ Fgp-XpI      

c.  Where is bile stored ? 
   ]n -̄c-kw FhnsS kw`-cn-¡p¶p? 

 

2 

19. Major enzymes of digestion are enlisted below.  Arrange the above enzymes in 

groups based on their function   
[À½s¯ ASn-Øm-\-am¡n A\ptbm-Py-amb Xe-s¡«v sImSp¯v X¶n-cn-¡p¶ 
F³sskapIsf Xcw Xncn-¡pI 

(Amino peptidase, salivary amylase, Pepsin, Nucleosidases, Pancreatic lipase, 

Trypsin) 

 

2 

20. Observe the following diagram and answer the questions 
Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 
a. Identify the figure. 
   Nn{Xw Xncn-̈ -dn-bpI 

b. Identify the parts labelled as  A,B and C 

     A, B, C F¶v AS-bm-fs¸Sp¯nb `mK§Ä Xncn-̈ -dn-bpI 
 

2 

21. Dental formula of an adult human is given below. Write the number of  following 

teeth 

apXnÀ¶ Hcp hyàn-bpsS Z´Â ka-hmIyw X¶n-cn-¡p¶p. Xmsg X¶n-cn-¡p¶ 
]Ãp-I-fpsS F®w Fgp-XpI.  

2 1 2 3

2 1 2 3
 

 a. Incisors   b. Canines   c. Premolars  d. Molars. 

 

2 

22. Give one word for the following 
Hä hm¡nÂ D¯cw Fgp-XpI 

a. Presence of 2 sets of teeth in  life time 

       b. Teeth present in the socket of jaw bone 

2 
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23. Observe the following  figure and answer the questions 
Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 
a. Identify the figure  
     Nn{Xw Xncn-̈ -dn-bpI 

b. Identify the parts marked A and B 

     A, B F¶v AS-bm-fs¸Sp¯nb `mK§Ä Xncn-̈ -dn-bpI 

c. Write the function of part labelled as “A” 

     ‘A’ bpsS [À½w F´v ? 

 

2 

24. Complete the table      
]«nI ]qÀ¯nbm¡pI 

Name of cell Secretion Function 

Peptic cell .............A........... digestion of protein 

Mucus cel mucus ..........B......... 

.........C........ HCl provide acidic PH for pepsin 

Hepatic cell bile ........D.......... 
 

2 

   

25. Observe the diagram and answer the following questions. 
Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 
a. Identify the part A of the alimentary canal. 

   A¶]Y-¯nÂ ‘A’ F¶v AS-bm-fs¸Sp¯nb `mKw Xncn- -̈dn-bpI 

b. Write the role of this part in digestion. 
     Zl-\-{]-{In-b-bnÂ Cu `mKw F´p ]¦v hln-¡p¶p ? 

c. Name the enzymes produced by this part  
    Cu `mKw DÂ]m-Zn-̧ n-¡p¶ F³sskapIÄ Gh ? 

2 
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BREATHING AND EXCHANGE OF GASES 

One word answer questions. Each question carries 1 score 
Hä hm¡nÂ D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 1 kvtImÀ hoXw 
 

1. Blood transports O2 from lungs to tissues by various means. In which form does 

97 % of O2 transport occur ? 

cà-¯n-eqsS HmIvknP³ hln-̈ p-sIm−v t]mIp¶Xv ]e coXn-bn-em-Wv. 97 % kwh-
l\w GXv amÀK-¯n-eq-sSbmWv \S-¡p-¶Xv ? 

 

1 

2. Which one is the respiratory organ in aquatic arthropods and molluscs? 
Pe¯nÂ hkn-¡p¶ BÀt{Xm-t]m-U-bnepw samf-kv¡-bnepw ImW-s¸-Sp¶            
izk-\m-h-bhw GXv? 

a. Trachea  b. Gills  c. Lungs   d. Skin 

 

1 

3. Sound box in human body is  
a\p-jy-i-co-c-¯nse i_vZt]SIw GXmWv ? 

a. Trachea   b. Larynx    c. Syrinx   d. Bronchi 

 

1 

4. ............................ is formed by combining CO2 and haemoglobin 
ImÀ_¬ssU--- HmIvsskUv lotam-t¥m-_n\pambn tNÀ¶v ........................ D−m-Ip¶p 
 

1 

5. Cutaneous respiration occurs with the help of ....................... 
Iyqt«\n-bkv izk\w \S-¡p-¶Xv ....................... hgn-bmWv 
 

1 

Answer the following questions. Each question carries 2 scores 
Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 2 kvtImÀ hoXw 

 

6. Define the following terms 
X¶n-cn-¡p¶ ]Z-§Ä \nÀh-Nn-¡pI 

 a. Tidal Volume  b. Residual volume 

 

2 

7. Prepare an equation for the chemical reaction using the following components. 
X¶n-cn-¡p¶ ]Z-§Ä D]-tbm-Kn¨v cmk-{]-hÀ¯\w Fgp-XpI 

[Carbonic anhydrase, carbonic acid , water , carbondioxide] 

 

2 

8. Fill in the table with appropriate headings and values 
A\ptbm-Py-amb Xe-s¡«pw aqeyhpw \ÂIn ]«nI ]qÀ¯oI-cn¡pI 

Respiratory 

Gas 

Atmospheric 

air 
.................. 

Deoxygenated 

blood 

Oxygenated 

blood 
................... 

pO2 159 104 ................... 95 40 

pCO2 0.3 40 45 ................... 45 
 

2 
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9. a. CO2 concentration plays a major role in regulating respiration. Comment on   

    this statement.  
    izk-\- \n-b-{´-W-¯n\v ImÀ_¬ssU--- HmIvsskUv Hcp {]m[m\ ]¦v       
    hln-¡p¶p−v. kaÀ°n¡pI 

b. Name the specialised centre present in medulla and pons region of the brain   

    which regulate respiration 
     izk-\- \n-b-{´-W-¯n\v saUp-e-bnepw t]m¬knepw ImWp¶ {]tXyI        
   tI{µw GXv ? 
 

2 

10. a. What do you understand by the term Vital capacity? 
   sshäÂ I¸m-knän F¶mÂ F´v ? 

b. Suggest any two modes of transport of oxygen from alveoli to tissues 
   HmIvknPs\ hmbp-A-d-I-fnÂ \n¶v Ie-I-fn-tebv¡v hln-̈ p-sIm−v t]mIp¶    
   c−v amÀ¤§Ä Fgp-XpI 
 

2 

11. Observe the equation carefully and answer the following questions. 
cmk- ka-hmIyw \nco-£n¨v Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 

 

 a. Where do these reactions take place?  
      Cu cmk-{]-hÀ¯\§Ä Fhn-sSbmWv \S-¡p-¶Xv ?                 

b. Which enzyme regulates the reaction? 
      GXv F³ssk-amWv Cu {]hÀ¯\w \nb-{´n-¡p-¶Xv ? 
 

2 

12. Dissociation and association of oxygen and haemoglobin are important in the 

exchange of gases in tissue and alveoli. 
hmbp-Adbnepw Ie-I-fnepw hmXIhn\n-a-b¯n\v HmIvknPsâbpw lotam-t¥m-
_nsâbpw IqSn-t¨-cepw thÀ]n-cn-bepw {][m-\-s¸-«-XmWv 
 

a. Write the favourable conditions required in the tissues for the dissociation of   

     O2 from oxyhaemoglobin 
     Ie-I-fnÂ h¨v HmIvknlotam-t¥m-_n\nÂ \n¶pw HmIvknP³ thÀ]n-cn-bm³   
   klm-bn-¡p¶ A\p-Iqe LS-I-§Ä Gh?  

b. Write the favourable conditions in alveoli for the association of          

     oxyhaemoglobin 
   hmbp-AdIfnÂ HmIvknPsâbpw lotam-t¥m-_nsâbpw IqSn-t -̈cen\v klm-bn- 
   ¡p¶ A\p-Iqe LS-I-§Ä Gh? 

 

2 

13. Pick out the wrong one and justify your selection. 
sXäm-bXv Is−¯n km[q-I-cn-¡pI 

a. VC   = ERV + IRV + TV      b. TLC = VC + RV   c. TV   = 500ml   d. ERV = 3000ml 

2 
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14. The given diagram shows the exchange of gases between alveolus and alveolar 

capillary. 
izmk-tImi¯nse hmXIhn\n-a-b¯nsâ Nn{Xw X¶n-cn-¡p¶p 

 
a. Identify the gases X and Y 

     X, Y F¶ AS-bm-f-s¸-Sp¯nb hmXI-§Ä Xncn-̈ -dn-bpI 

b. Name the biological process involved in gas exchange 
    hmXIhn\n-a-b¯nsâ ssPhnI {]{Inb Fgp-XpI 

c. Write the partial pressure of O2 and CO2 in alveoli 

     hmbp-A-d-I-fnse HmIvknPsâbpw ImÀ_¬ssU--- HmIvsskUnsâbpw `mKnI  
   aÀ±w F{X ? 
 

2 

15. Write the flow chart of inspiration in correct order using the following terms 
Xmsg X¶n-cn-¡p¶ ]Z-§Ä D]-tbm-Kn¨v DÑ-zm-k¯nsâ tcJm Nn{Xw hc-bv¡pI 

(Alveoli, Atmospheric air, Trachea, Nostrils, Lungs, Bronchioles, Bronchi, Nasal cavity, Pharynx)  

 

2 

16. Emphysema and asthma are two disorders of respiratory system. Differentiate 

between them and give reason for each 
Fw -̂nkn-abpw BkvX-abpw izmk-tImi kw_-Ô-amb tcmK-§-fm-Wv. hnthNns -̈
gpXn ImcWw Fgp-XpI- ? 

 

2 

17. Expand the following terms 
Xmsg X¶n-cn-¡p¶ ]Z-§fpsS ]qÀ®cq]w Fgp-XpI  

a. TV     b. TLC       c. IC       d. ERV 

 

2 

18. In a normal person expiratory reserve volume and residual volume were found to 

be 1000ml and 1100ml respectively. 
km[m-cW hyàn-bpsS FIvkv]n-tdädn dnkÀhv hym]vXhpw sdknUypbÂ 

hym]vXhpw bYm-{Iaw 1000ml Dw 1100ml BWv 

a. Find out his functional residual capacity 
     ^wKvj-WÂ dknUypbÂ I¸m-knän I−p-]n-Sn-¡pI 

b. How does the functional residual capacity differ from the vital capacity? 
     ^wKvj-WÂ dknUypbÂ I¸m-knänbpw sshäÂ I¸m-knänbpw X½n-epÅ   
   hyXymkw Fgp-XpI ? 

2 

  



30 

 

 

19. The given pie diagram shows the mechanism of transport of respiratory gas. 

Answer the questions. 
ss] Nn{Xw sdkv¸n-td-ädn hmX-I¯ns\ hln-̈ p- sIm−p t]mIp¶ coXn       
ImWn-¡p-¶p. X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 

a. Identify the gas which is transported 
   GXv hmX-I¯nsâ kwh-l-\-amWv kqNn-̧ n-¡p¶Xv ? 

b. Write down the three means of transport  represented as A, B and C 

    A, B, C F¶o aq¶v Xc-̄ n-epÅ kwh-l-\- {]{Inb Fgp-XpI 

 

2 

20. Observe the graph and answer the following questions 
{Km v̂ \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 
a. Name the graph 
   {Km^nsâ t]cv \ÂIpI. 

b. What are the factors which affect the sigmoid pattern of the graph ? 
   kntÜm-bnUv {Km^ns\ \nÀ®bn¡p¶ LS-I-§Ä Gh? 

c. Find out the partial pressure at which 90%  haemoglobin is saturated with O2? 

  HmIvknPsâ GXv `mKnI aÀ±¯nemWv 90% lotam-t¥m-_n³   ]qcn-X-am-Ip-¶Xv? 

 

2 

 

  

A

70%

B

25%

C

5%
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BODY FLUIDS AND CIRCULATION 

One word answer questions. Each question carries 1 score 
Hä hm¡nÂ D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 1 kvtImÀ hoXw 
 

1. Note the relation in the first pair and complete the second pair 
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw c−m-as¯ tPmUn 
]qcn-̧ n-¡pI 

Universal donor :  Blood group O ; Universal recipient :---------------------------- 

 

1 

2. Pacemaker is responsible for initiating and maintaining the rhythmic contractile 

activity of the heart. Name the pacemaker in human heart 

lyZ-b¯nsâ {]hÀ¯\w XpS-§p-¶Xpw \ne-\nÀ¯p¶Xpw s]bn-kvta-¡dnsâ 

klm-b-̄ m-em-Wv. a\pjylyZ-b¯nse s]bn-kvta-¡À GXv? 

 

1 

3. Note the relationship between the first two words and find a suitable word for 

the third place. 
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw tbmPn-̈  aq¶mas¯ 
hm¡v Fgp-XpI 

Closure of AV valves : Lub ; ------------------------------: Dub 

 

1 

4. The deposits of calcium and cholesterol on the walls of blood vessels make the 

lumen of arteries narrower . The condition is often referred as  
-cà-¡p-g-ep-I-fpsS DÄh-i-§-fnÂ ImÕyhpw sImf-kvt{Smfpw ASn-bp-¶Xv [a-\n-
IÄ Npcp-§p-¶-Xn\p Imc-Wam-Ipw. Cu Ah-Øsb ]d-bp¶ t]sc´v ? 

a. Hypotension   b. Coronary Artery Disease    c. Angina   d. Hypertension  

 

1 

5. Name the mineral element responsible for blood clotting 
-càw I«n-]n-Sn-¡p-¶-Xn\v klm-bn-¡p¶ [mXp aqeIw GXv ? 

a. Iron   b. Calcium   c. Copper    d. Magnesium      

 

1 

6. Plasma without clotting factor is called ..................................  

t¢m«nw§v LSIw CÃm¯ ¹mkvasb……… F¶v hnfn-¡p¶p 

 

1 

7. Which one of the following is known as Graveyard of RBC ? 
Xmsg X¶n-cn-¡p¶hbnÂ GXmWvv Nph¶ cà-tIm-i-§-fpsS ivaim-\-̀ qan F¶-
dn-b-s¸-Sp-¶Xv? 

a. Red bone marrow  b. Heart  c. Spleen   d. Liver 
 

1 

8. Note the relationship between the first two words and fill the blanks  
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw hn«p-t]m-b- `mKw ]qcn-̧ n-
¡pI 

Contraction of heart chamber : Systole ; Relaxation of heart chamber : 

.......................... 

1 
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9. During blood coagulation, thrombin and fibrin are produced from Prothrombin 

and ............................. respectively. 
-càw I«n-]n-Sn-¡p-t¼mÄ t{Xm¼n\pw ss^{_n-\pw D−mIp¶Xv t{]mt{Xm¼n\nÂ 
\n¶pw ........................ Â \n¶pamWv 
 

1 

Answer the following questions. Each question carries 2 scores 
Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 2 kvtImÀ hoXw 
 

10. Find out the odd one and write its function  

Häbms\ Is−-̄ n AXnsâ [À½w Fgp-XpI 

(Lymphocyte,  Neutrophil , Erythrocyte , Monocyte, Basophil  ) 

 

2 

11. In man double circulation is present. Draw the schematic diagram of two 

pathways of double circulation.  
-a\p-jy-cnÂ Cc« cà]cy-b-\-am-Wv. Cc« cà]cy-b-\-¯nsâ tcJm Nn{Xw X¿m-
dm-¡pI  
 

2 

12. The stroke volume of a normal person is 70 ml.  

Hcp km[m-cW hyàn-bpsS kvt{Sm¡v hym]vXw 70 ml BIp¶p 

a. What is the relation between stroke volume and cardiac output ? 
     kvt{Sm¡v hym]vXhpw ImÀUn-bmIv Hu«v]p«pw X½n-epÅ _Ôw F´v ? 

b. Can you find out his cardiac output? 
     Cu hyàn-bpsS ImÀUn-bmIv Hu«v]p«v Is−-̄ pI 
 

2 

13. Some hints related to flow of cardiac impulse is given. Draw a flow chart showing 

the path of cardiac impulse. 

(Purkinje fibre, AV node, Ventricle contraction, Bundle of His, Atrial contraction, SA node) 

X¶n-cn-¡p¶ ]Z-§Ä D]-tbm-Kn¨v lyZ-b¯nsâ Bth-K-§-fpsS k©m-c-]-
Y¯nsâ tcJm Nn{Xw X¿m-dm-¡pI  
 

2 

14. Immediately after the first delivery of Neethu, doctor advised to administer Anti 

Rh antibodies to her. 

BZy {]k-h-tijw tUmIvSÀ \oXp-hn-\v Rh {]Xn-{Z-hy-¯n\v FXn-sc-bpÅ acp¶p 
\ÂIm-\m-h-iy-s¸-«p. 

a. Name the Clinical condition? 
     Cu NnInÕmhØ-bpsS t]sc´v ? 

b. How does this condition occur ? 
     Cu AhØ- F§s\bp−mIpw ? 
 

2 

15. Human heart is myogenic. Do You agree? Justify your answer.  
a\p-jy-lr-Zbw atbm-P-\nIv BWv. \n§Ä tbmPn-¡p-¶p-t−m ? D¯cw km[q-I-cn-
¡pI. 

2 
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16. While analysing the ECG of Vineeth, doctor told him that his ECG shows some 

variations 
hn\oXnsâ C. kn. Pn bnÂ hyXn-bm\aps−¶v tUmIvSÀ Is−¯n. 

a. Expand ECG  

     ECG bpsS ]qÀ®cq]w Fgp-XpI 

b. Write the clinical significance of ECG 

    NnInÕbnÂ ECG bpsS {]m[m\yw F´v ? 
 

2 

17. Your school health club is conducting blood pressure check up of students. One 

of your friends blood pressure is found as 140 / 90 . 
\n§-fpsS kv¡qfnÂ BtcmKy ¢_v \S-̄ nb ]cn-tim-[-\-bnÂ \n§fpsS   

kplr-̄ nsâ cà-k-½À±w 140 / 90 BWv 

a. Do you think it is normal blood pressure? If not what is the normal blood   

    pressure of  a person  ? 

   cà-k-½À±w km[m-cW \ne-bn-emtWm ? AsÃ-¦nÂ km[m-cW cà-k-½À±w  
   F{X ? 

b. The blood pressure values 140/90 indicate ? 

    140/90 cà-k-½À±w F´ns\ kqNn-¸n-¡p¶p ? 
 

2 

18. About 55% of blood is composed of plasma.  

cà¯nsâ 55% hpw ¹mkva-bmWv 

a. Write the name any two plasma protein and their functions 
   ¹mkva-bnÂ ImWp¶ GsX-¦nepw c−v t{]m«o-\p-Ifpw Ah-bpsS [À½hpw      
   Fgp-XpI 

b. Write the other components of plasma. 
   ¹mkva-bnÂ ImWp¶ aäp LS-I-§Ä Gh? 
 

2 

19. Identify the following blood cells A, B and write their function. 

A bpw B bpw càtImi-§sf Xncn- -̈dnªv [À½w Fgp-XpI 

 

2 

20. There are two types of circulations in organisms.  
Pohn-I-fnse cà]cy-b-\-hyh-Ø-IÄ c−v Xc-ap−v 

a. Classify the following animals under appropriate heads based on the type of   

     circulatory patterns ( Annelids, Molluscs , chordates, arthropods) 
   A\ptbm-Py-amb Xe-s¡«v sImSp v̄ X¶n-cn-¡p¶ Pohn-I-sf Xcw Xncn-¡pI 

b. Write the major differences between the said circulatory pathways. 
     Cu c−v cà]cy-b-\-hyh-Ø-IÄ X½n-epÅ hyXymkw Fgp-XpI 

2 

  



34 

 

21.  Complete the chart  
NmÀ«v ]qÀ¯oIcn-¡pI 

                                                                                           WBC                                   

 

 

                                                     -------------                                              ................... 

 

                Neutrophil        -----------              Eosinophil                 Lymphocyte           .............  
 

2 

22. What role does bicuspid and tricuspid valve play during cardiac cycle? 
-lr-Zb N{I-¯nÂ ss_I-kv]nUv ss{SI-kv]nUv hmÂhp-I-fpsS ]¦v F´v ? 

 

2 

23. The following diagram shows the representation of a stan dard ECG.  
C. kn. Pn bpsS tcJm-Nn{Xw X¶n-cn-¡p¶p 

 
a. Name the waves which represent 

     1. repolarisation 2. depolarisation of atria  

     1 t\bpw 2 t\bpw  kqNn-̧ n-¡p¶ XcwK§Ä Gh ? 

b. Write the significance of QRS complex 

     QRS XcwK¯nsâ {]m[m\yw F´v ? 

 

2 

Answer the following questions. Each question carries 3 scores 
Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 3 kvtImÀ hoXw 

24.  Match the terms in column A with those in column B and C . 

A, B, C tImf-§-fnse ]Z-§sf tNcpw-]Sn tNÀ¡pI 

A B C 

Eosinophil 6- 8 % Phagocytic 

Neutrophil 20-25 % Immune response  

Basophil 60-65 % Allergic reactions 

Lymphocytes 2-3 % Inflammatory reactions 
 

3 
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25. ABO Blood grouping is based on the presence or absence of two antigens and 

antibodies in RBC and plasma respectively. Based on it, answer the questions 

that follow 
cà-¯nepw, ¹mkva-bnepw ImWp¶ c−p Xc-̄ n-epÅ BânP\p-I-fp-tSbpw 
Bânt_mUn-I-fp-tSbpw km¶n-²y-a-\p-k-cn¨mWv cà-{Kq-̧ p-Isf Xcw-Xn-cn-̈ n-cn-¡p-
¶Xv. CXnsâ ASn-Øm-\-̄ nÂ X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI.  

a. Prepare a table showing the different blood groups with antigens and  

    antibodies 
    cà-{Kq-̧ p-Ifp-w, BânP\p-I-fp-w, Bânt_mUn-I-fpw D]tbm-Kn¨v hnhn[ cà- 
   {Kq-̧ p-IfpsS ]«nI X¿m-dm-¡pI  

b. Why ‘AB’ and ‘O’ blood group called universal recipient and universal  

    donor respectively? 

    ‘AB’ bpw ‘O’ bpw cà-{Kq-̧ p-Isf bYm-{Iaw kmÀh-{XnI kzoIÀ¯mhv,       
   kmÀh-{XnI ZmXmhv F¶v hnfn-¡p¶p. ImcWw Fgp-XpI? 

3 
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EXCRETORY PRODUCTS AND THEIR ELIMINATION 

One word answer question. Each question carries 1 score 
Hä hm¡nÂ D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 1 kvtImÀ hoXw 
 

1. Dialysis fluid contains all the constituents as in plasma except ----------------- 
Ubm-en-knkv {Zmh-I-w ....................... HgnsI ¹mkvabv¡v kam-\-amWv  
 

1 

2. Accumulation of urea in blood is  
cà-¯nÂ bqdn-b-bpsS Afhv IqSp-¶-XmWv 

a. Nephritis    b. Uremia   c. Renal calculi   d. Gout 
 

1 

3. In the case of kidney failure, urea can be removed from blood by a process 

called ------- 
hr¡-IÄ¡v {]hÀ¯\£-a-X-bn-sÃ¦nÂ cà-¯nÂ \n¶v bqdn-b thÀXn-cn¡p¶ 
{]{InbbmWv ............  
 

1 

4. A healthy adult human excretes, on an average -------- gm of urea per day  

Btcm-Ky-hm-\mb Hcp hyàn Znh-tk\ ..................... gm  bqdn-b hnÊÀPn¡pw. 
 

1 

5.  Glomerulus along with bowman’s capsule is called .................................... 

t¥ma-dp-eÊpw t_mam³kv Iym]vkyq-fn-t\bpw tNÀ v̄ ……… F¶v hnfn-¡p¶p. 

 

1 

6. Which one of the following is actively reabsorbed from renal tubule? 
X¶n-cn-¡p-¶-h-bnÂ hr¡-m\fn-I-bneqsS BIvSo-hmbn BKo-cWw sN¿p¶Xv 
GXv? 

     a. Water    b. Urea   c. Aminoacids    d. NH3 

 

1 

7. Find out the relation and fill the gap 
BZy ]Z-§-fpsS _Ôw a\-kn-em¡n hn«p-t]mb `mKw ]qcn-̧ n-¡pI 

Malpighian tubules : Cockroach; --------------------------- : Prawn    
 

1 

8. Which one of the following hormone facilitates water reabsorption from the 

distal part of renal tubules? 
hr¡-m\fn-I-bpsS Unkvd-dÂ `mK¯v \n¶v Pew BKo-cWw sN¿m³ klm-bn-
¡p¶ tlmÀtam-tWXv? 

    a.  Renin    b. ANF    c. ADH    d. Angiotensin 

1 

Answer the following questions. Each question carries 2 scores 
Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 2 kvtImÀ hoXw 
 

9. a. Name the three steps involved in urine formation 
     bqdn³ cq]w-sIm-Åp¶Xn\pÅ aq¶v L«-§Ä Gh? 

b. Write down the value of GFR  

     GFR sâ aqeyw Fgp-XpI. 

      2 
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10. Match the following  
tNcpw]Sn tNÀ¡pI 

Animal Excretory organ 

Platyhelminthes Nephridia 

Cockroach Antennal gland 

Earthworm Flame cells 

Prawn Malpighian tubules     

               

2 

11. Categorise the following animals under appropriate headings  based on the 

nature of excretion of nitrogenous wastes. 
ss\t{Sm-P-\nI hnkÀPy§sf ASn-Øm-\-am¡n A\ptbm-Py-amb Xe-s¡«v 
sImSp¯v X¶n-cn-¡p¶ PohnIsf Xcw Xncn-s¨gpXpI 

(birds, marine fishes, aquatic amphibians , land snails , aquatic insects, 

mammals, reptiles, terrestrial amphibians, bony fishes ) 
 

2 

12. Carefully observe the diagram and answer the following 
{i²m-]qÀhw Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 
a. Label the parts marked as A and B  

     A, B F¶v AS-bm-fs¸Sp¯nb `mK§Ä Fgp-XpI 

b. Name the structural and functional unit of kidney 
     InUv\n-bpsS LS-\m-]-chpw [À½-]-c-hp-amb ASn-Øm\LSIw GXv? 
 

2 

13. Eventhough 180 litres of Glomerular filtrate is formed per day, only 1.5 litres is 

released as urine. Do you agree with this statement? Justify your answer.  

Hcp Znh-ks¯ t¥ma-dp-emÀ ^nÂ«tdäv 180 enäÀ BWv. ]s£ tIhew 1.5 enäÀ 
aq{X-amWv- hnkÀÖn¡s¸Sp¶-Xv. Cu {]kvXm-h-\-tbmSv tbmPn-¡p¶p-thm? 
D¯cw km[q-I-cn-¡pI. 
 

2 

14. Counter current system plays an important role in concentrating urine. Name 

any two regions in the kidney, where the counter current system is seen  
aq{X¯nsâ KmVX \nÀ®bn¡p-¶-XnÂ Iu−À Id−v {]hÀ¯\¯n\v {][m\ 
]¦v D−v. hr¡bpsS GsXÃmw c−v `mK§fnemWv Iu−À Id−v {]hÀ¯\w 
ImW-s¸-Sp¶-Xv? 

2 

  



38 

 

15. a. Define the metabolic disorders glucosuria and ketonuria 
    D]m-]-Nb sshIey-§-fmb ¥qt¡m-kq-dn-bbpw Iotäm-\q-dn-bbpw \nÀh-Nn-¡pI 

b. Which diseased condition causes these metabolic disorders? 

     GXv tcmKm-h-Ø-bmWv C¯cw D]m-]-Nb sshIey-§-Ä¡v Imc-W-am-Ip-¶Xv? 
 

2 

16. While studying the topic of human excretory system, your teacher explained that 

our kidneys have a built in mechanism for regulation of GFR. 
hnkÀP\ hyh-Øsb Ipdn¨v ]Tn-̧ n-¡p-t¼mÄ a\pjycpsS hr¡IÄ¡p-ÅnÂ 

GFR \nb-{´n-¡p-¶-Xn\pÅ kwhn-[m-\-aps−¶v So¨À hnh-cn¨p. 

a. Expand GFR  

   GFR sâ ]qÀ®cq]w Fgp-XpI 

b. If a fall in GFR takes place, by what mechanism will it get back to normal? 

    GFR Ipd-ªmÂ, GXv coXn-bn-eq-sSbmWv km[m-c-W- Ah-Øbn-emIp-¶Xv? 
 

2 

17. Observe the given figure and answer the questions that follows 
Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 
a. Identify and name the labelled part A and B 

     Nn{Xw Xncn-̈ -dn-ªv A, B F¶v AS-bm-fs¸Sp¯nb `mK§Ä Fgp-XpI 

b. Can you differentiate cortical nephrons from juxtamedullary nephrons? 
    tImÀ«n-¡Â s\t{^m-Wpw sPIvÌm saUp-Ãdn s\t{^m-Wpw thÀXn-cn¨v Fgp-XpI 

  

2 

18. Flow chart showing mechanism of regulation of GFR is given. Observe and 

answer the questions. 

GFR \nb-{´n-¡p-¶- coXn-bpsS tcJm Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-
§Ä¡v D¯cw Fgp-XpI 

             JGA                                .......A.......... 

 

Angiotensinogen                       ..........B.......                       Angiotensin II 

           Stimulate Adrenal Cortex                        GFR increases 

                                                                                                   ........C............  

a. Fill the gap labelled as A, B and C in the diagram 

    A, B,C F¶v AS-bm-fs¸Sp¯nb `mK§Ä ]qcn-̧ n-¡pI 

b. Which hormone acts as a check on this mechanism and from where is it  

     produced? 
    Cu \nb-{´W- coXns¡Xnsc {]hÀ¯n¡p¶- tlmÀtamtWXv? AXv FhnsS 
   \n¶pw DXv]mZn-̧ n-¡p¶p? 

2 
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19. The third process in urine formation is tubular secretion. 

bqdn³ D−m-Ip-¶ {]{In-b-bnse aq¶mas¯ L«amWv Srq_pemÀ sk{Io-j³. 

a. Name the substances that are secreted into the filtrate during the above  

     process 
   GsXÃmw ]ZmÀ°-§-fmWv Syq_pemÀ sk{Io-j\neqsS ]pd-́ -Åp-¶Xv? 

b. What is the significance of tubular secretion in urine formation? 
   bqdn³ D−m-Ip-¶ {]{In-b-bnÂ Syq_pemÀ sk{Io-jsâ {]m[m\yw F´v? 
 

2 

20. Human kidney has the mechanism to concentrate urine. Based on this 

knowledge answer the following questions 
a\pjysâ hr¡bv¡v aq{X¯nsâ KmVX Iq«p-¶-Xn-\pÅ Ign-hp-−v. CXnsâ 
ASn-Øm-\-¯nÂ X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

a. Write the significance of counter current system in the formation of urine.  
     aqt{Xm-Xv]m-Z-\-¯nÂ Iu−À Idâv kwhn-[m-\¯nsâ {]m[m\yw F´v? 

b. How is the osmotic concentration of medullary interstitium is maintained as high? 

     saUp-Ãdn CâÀÌojy¯nsâ Hmkvtam-«nIv km{µX DbÀ¶- Af-hnÂ \ne- 
   \nÀ¯p¶Xv F§s\? 
 

2 

21. Observe the diagram of nephron and answer the questions that follows. 
Nn{Xw \nco-£n v̈ X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 
a. Name the ‘U’ shaped blood capillary surrounding the nephron 

     s\t{^m-Wns\ Npän-Im-Wp¶ ‘U’ BIy-Xn-bnepÅ kqjva-c-à-¡p-g-ensâ t]sc´v? 

b. Identify the parts noted as A, B, C and D 

    A, B,C, D F¶v AS-bm-fs¸Sp¯nb `mK§Ä Xncn-̈ -dn-bpI 
 

2 

22. The functioning of human kidney is efficiently monitored and regulated by 

hormonal actions of hypothalamus, JGA and to certain extent, the heart. Do you 

agree with this statement? Justify your answer 

a\pjysâ hr¡bpsS {]hÀ¯\w sslt¸m-X-em-a-kv, JGA, lyZbw apX-em-b-h-
bnÂ \n¶pÅ tlmÀtam-WpI-fmWv \nb-{´n-¡p-¶Xv.  \n§Ä tbmPn-¡p¶p-thm? 
D¯cw km[q-I-cn-¡pI 

2 
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LOCOMOTION AND MOVEMENT 

One word answer questions. Each question carries one score 
Hä hm¡nÂ D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 1 kvtImÀ hoXw 

 

1. Name the disease caused by the accumulation of uric acid crystals in joints. 
kÔn-I-fnÂ bqdnIv BknUv ASnªv IqSp-¶Xnsâ ^e-am-bp-−m-Ip¶ 
tcmK¯nsâ t]sc´v ? 

 

1 

2. The portion of the myofibril between two ‘Z’  lines is called ......................... 

atbm-ss^-{_nensâ c−v ‘Z’ hc-IÄ¡v CS-bnÂ hcp¶ `mK-amWv ...........F¶v   
]d-bp-¶Xv. 

 

1 

3. From among the given vertebrae select the correct answer  
Xmsg X¶n-cn-¡p-¶-h-bnÂ \s«-Ãnsâ F®¯nÂ icn-bmbXv XncsªSp-¡pI. 

a. Cervical -7    b. Thoracic -12   c. Lumbar -2   d. Coccygeal- 1 

 

1 

4. ................................ is a flat bone on the ventral middle line of thorax 
s\©nsâ a²y-̀ m-K-̄ pÅ ]c¶ AØnbmWv ......................................... 

 

1 

5. In a muscle fibre Ca
2+

 is stored in ------------------------------------ 

t]in-X-́ p-¡-fnÂ................................... emWv ImÕyw Atbm-Wp-IÄ kw`-cn-¡p-¶Xv.  

 

1 

6. The number of bones in human cranium is ------------------- 
a\pjysâ t{I\n-b-¯nÂ ........................ AØn-IÄ ImWp¶p. 

                       a. 14     b. 22    c. 8    d. 7 

  

1 

7. During muscle contraction, action potential is generated by the release of   

neurotransmitter at the neuromuscular junction. Suggest the name of 

neurotransmitter. 
amwk-t]-in-bpsS kt¦m-N ka-b¯v B£³ s]m«³jyÂ D−m-Ip-hm³ \mUo-
t]in kÔn-bnÂ \mUo-b-t{]-£Iw {khn-¡p-¶p. \mUo-b-t{]-£I¯nsâ 
t]scgpXpI ? 

 

1 

8. 

 

Note the relationship between the first two words and find a suitable word for 

the fourth place 
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw tbmPn-̈  \memas¯ 
hm¡v Fgp-XpI 

Pectoral girdle : Glenoid cavity ; Pelvic girdle : ........................ 

 

1 

9. Connective tissue covering the muscle bundle is called ...................................... 
amwk-t]-in _−n-ens\ Bh-cWw sN¿p¶ kwtbm-PI Ie .........................BWvv ? 

1 
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10. A muscle cell viewed under microscope shows the following results. Identify the 

muscle cell.  
t]io tImi-§-Ä kq£va-ZÀin-\n-bn-eqsS t\m¡p-t¼mÄ Xmsg ]d-bp¶ khn-ti-
j-X-IÄ ImWp-¶p. t]io tImiw Xncn- -̈dn-bpI 

   Sarcolemma present, cylindrical shape, multinucleate, striations present 

 

1 

Answer the following questions. Each question carries 2 scores 
Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 2 kvtImÀ hoXw 

 

11. State whether the following statements are true or false. If false, correct it  
Xmsg X¶n-cn-¡p¶ {]kvXm-h-\-IÄ icntbm sXtäm F¶v Fgp-Xp-I. sXämbh 
Xncp¯n Fgp-XpI 

a. The skull, vertebral column , sternum and ribs constitute axial skeleton 

b. The globular head of myosin is an active ATP ase enzyme  

c. Actin filaments are thicker as  compared to myosin filaments 

d. Sliding filament theory explains the mechanism of muscle contraction 

 

2 

12.  Match the following  
tNcpw]Sn tNÀ¡pI 

A B 

Arthritis Decreased bone mass leads to bone fracture 

Muscular dystrophy Autoimmune disorder 

Osteoporosis Inflammation of joints 

Myasthenia gravis Genetic disorder of muscles 

      

2 

13. Classify the following bones under two heads  
DNnX-amb ioÀjIw \ÂIn Xmsg X¶n-cn-¡p¶ AØn-Isf Xcw-Xn-cn-¡pI 

( Scapula, ischium, ilium, clavicle, pubis ) 

 

2 

14. Different stages in muscle contraction are given.  Arrange them in sequential 

order. 
amwk-t]-in-bpsS kt¦m-N\¯nsâ L«-§Ä \ÂIn-bn-cn-¡p-¶p. A\p-{I-a-ambn 
Fgp-XpI 

1. Sarcoplasmic reticulum releases Ca++ 

2. Myosin head binds with actin to form cross bridge  

3. Neural signal from CNS reaches neuromuscular junction 

4. Ca++  binds with troponin 

5. Release of Acetylcholine at neuromuscular junction 

6. Generation of action potential in the sarcolemma 

2 
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15. Structural representation of muscle is given below.  
amwk-t]-in-bpsS LS\m Nn{Xw \ÂIn-bn-cn-¡p¶p 

 

a. Name the parts labelled as 1, 2 and 3 

     1, 2, 3 F¶v AS-bm-fs¸Sp¯nb `mK§Ä Fgp-XpI. 

b. Which among the figure represents contractile state of muscle and what  

    happens to  1, 2 and 3 after contraction?  
   GXv Nn{X-amWv kt¦m-Nn-̈ n-cn-¡p¶ t]insb ImWn-¡p-¶Xv? kt¦m-Nn-¨n-cn- 

  ¡p¶ t]inbnÂ 1, 2, 3 F¶v AS-bm-fs¸Sp¯nb `mK§Ä¡v F´v kw -̀hn- 
  ¡p¶p? 

 

        2 

16. Distinguish between 
 hnthNns¨-gp-XpI-. 

a. Red muscle fibre and white muscle fibre      b. Skeletal muscle and Cardiac muscle 

 

2 

17. Name the type of joints between the following bones  

X¶n-cn-¡p¶ AØn-IÄ¡nS-bnepÅ kÔn-bpsS t]sc-gp-XpI 

a. Between carpal and metacarpal of thumb 

b. Between atlas and axis 

c. Humerus and pectoral girdle 

d. Between the carpals 

 

2 

18. Give reason for the following statements  

Xmsg X¶n-cn-¡p¶hbpsS ImcWw Fgp-XpI 

a. Repeated stimulation of muscles lead to fatigue  

b. Each myofibril has alternate light and dark band on it 

 

2 

19. Select the bones of fore limb from the given list 
Xmsg X¶n-cn-¡p¶ AØn-IfnÂ ssII-fnÂ ImWp¶h Xnc-sª-Sp-¡p-I. 

( femur, tarsals, radius, humerus, tibia, ulna , metacarpals ) 

    2    
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20. Observe the diagram and answer the questions that follows 
Nn{Xw \nco-£n¨v Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 

a. Identify the above given diagram 
     Nn{Xw  Xncn- -̈dn-bpI 

b. Label A and B 

     A, B F¶v AS-bm-fs¸Sp¯nbh Fgp-XpI 

c. Write the function of B 

     ‘B’ bpsS [À½w Fgp-XpI  

 

2 

21. Observe the diagram and answer the following questions  
Nn{Xw \nco-£n¨v Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 
a. Identify the figure and label the parts ‘A’ and ‘B’ 

   Nn{Xw  Xncn-̈ -dn-ªv A, B F¶v AS-bm-fs¸Sp¯nb `mK§Ä Fgp-XpI 

b. Write the subunits of structure shown in the figure. 
    Xncn-̈ -dnª Nn{X¯nsâ D]LS-I-§Ä FgpXpI ? 

 

2 

22. Complete the chart NmÀ«v ]qÀ¯oIcn-¡pI 

                                                Skeletal System 

 

               Axial Skeleton                                               ................A................... 

 

         Skull            ......B...........            Sternum        Ribs 

 

.....C......        Facial                             True Ribs       Vertebrochondral         ........D.......... 

                                                                                            Ribs 

2 
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NEURAL CONTROL AND COORDINATION 

One word answer questions. Each question carries 1 score 
Hä hm¡nÂ D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 1 kvtImÀ hoXw 

 

1. The Cerebral hemispheres are connected by a tract of nerve fibre called----------- 
skdn-{_Â slan-kv^n-b-dp-Isf tbmPn-̧ n-¡p¶ \mU-oX-́ p-¡sf .................... F¶v 
hnfn-¡p¶p. 

 

1 

2. The gap between  two adjacent myelin sheath  in a neuron is called ------------- 
\mUo-tIm-i-§-fnse abn-en³ Bh-c-W-¯n-\n-S-bn-epÅ hnS-hns\ .................... F¶v 
hnfn-¡p¶p. 

 

1 

3. Name the chemicals involved in the transmission of impulses at the synapses 
kn\m-]vkn-eqsS Bth-K-§Ä IS-¯n-hn-Sm³ klm-bn-¡p¶ cmk-h-kvXphnsâ 
t]sc´v ? 

 

1 

4. Which part of our brain controls body temperature , urge for eating and drinking ? 

ico-tcm-jvamhpw, hni-¸pw, Zml-hpw \nb-{´n-¡p¶ Xe-t¨m-dnse `mKw GXv ? 

a. Cerebellum  b. Thalamus  c. Cerebrum  d. Hypothalamus  

  

1 

5. Note the relationship between the first two words and find a suitable word for 

the fourth place 
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw tbmPn-̈  \memas¯ 
hm¡v Fgp-XpI 

Malleus  :  Tympanic membrane; Stapes    : -------------------- 

 

1 

Answer the following questions. Each question carries 2 scores 
Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 2 kvtImÀ hoXw 

 

6. Complete the chart of human neural system 
a\pjysâ \mUohyh-Ø-bpsS NmÀ«v ]qÀ¯oIcn-¡pI 

                                        Human Neural System 

                                        

                            .....................                                              Peripheral Neural System 

 

               

           ............           spinalcord           somatic neural system                             .................. 

                                                                                            

 

                                                                       Sympathetic Neural                          .................... 

                                                                                 System    

2 
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7. Observe the diagram and answer the following questions 
Nn{Xw \nco-£n¨v Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 

a. A resting membrane is positively charged outside and negatively charged  

    inside. Why? 
    hn{i-am-h-Ø-bn-epÅ kvXc¯nsâ ]pdw-̀ mKw t]mkn-änhv NmÀÖpw AI-hiw      
   s\K-änhv NmÀÖpw BWv F´psIm−v ? 

b. What is meant by action potential? 
     B£³ s]m«³jyÂ F¶mÂ F´v ? 

2 

8.  Differentiate between 
hnthNns¨-gp-XpI-  

a. Olfactory receptor  and Gustatory receptor 
      HmÄ^mIvSdn dnk-]vädpw KtÌ-ädn dnk-]vädpw 

b. Myelinated and non myelinated axons  
    abn-ent\äUv BIvtkmWpw t\m¬ abn-ent\äUv BIvtkmWpw 
 

2 

9. Give one word for the following  

Xmsg X¶n-cn-¡p¶h Hä-hm-¡nÂ Fgp-XpI 

a. The involuntary response to a peripheral nervous stimulation 
      _mly-\mUo hyh-Ø-bnse CÑm-]qÀÆ-aÃm¯ {]Xn-I-cWw 

b. The junction through which nerve impulse is transmitted from one neuron to   

     another neuron  
     Hcp \mUnbnÂ \n¶pw asämcp \mUn-bn-tebv¡v Bth-K-§Ä IS-¯n-hn-Sm³   
   klm-bn-¡p¶ \mUo-tIm-i-§-fpsS kÔn-Øm\w 
 

2 

10. Classify the following terms into two groups and give appropriate headings  
DNn-X-amb Xe-s¡«v \ÂIn Xmsg X¶n-cn-¡p¶ ]Z-§sf Xcw-Xn-cn-¡pI. 

(Thalamus, Pons, Cerebellum, Corpora quadrigemina, Cerebrum, Medulla, 

Hypothalamus ) 

 

        2 

11. There are two types of synapses. Name them and write down the major 

differences between them  
kn\m-]vkpIÄ c−p Xcw D−v. Ah-bpsS t]sc-gp-XpI? Ch X½n-epÅ {][m\ 
hyXymk§Ä Fgp-XpI. 

2 
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12. Identify the given figure and label the parts 

Nn{Xw Xncn- -̈dn-ªv A, B, C F¶v AS-bm-fs¸Sp¯nb `mK§Ä FgpXpI 

 

2 

13. Give reason for the following  
Xmsg X¶n-cn-¡p¶hbpsS ImcWw hni-Zo-I-cn-¡pI 

a. The blind spot is devoid of vision whereas fovea is the area of sharpest vision  

     AÔ _nµp Imgv¨-ti-jn-bn-Ãm¯ `mKhpw t^mhnb Xo{h Imgv¨m-ti-jn- 
   bnapÅ `mK-hpamWv 

b. Deficiency of Vitamin A leads to blindness. 

     hnäm-an³ ‘A’ bpsS A`mhw AÔ-Xbntebv¡v \bn-¡p¶p. 

 

2 

14. Where do you find the following structures in our body 
Xmsg X¶n-cn-¡p¶h \½psS ico-c-¯nÂ FhnsS ImWp¶p? 

a. Semicircular canals  

b. Gustatory receptors 

c. Organ of Corti 

d. Pons 

 

2 

15. State whether the following statements are true or false. If false, correct it  
Xmsg X¶n-cn-¡p¶ {]kvXm-h-\-IÄ icntbm sXtäm F¶v Fgp-Xp-I. sXämbh 
Xncp¯n Fgp-XpI. 

a. Eustachian tube connects the middle ear cavity with the pharynx. 

b. The space between the cornea and the lens is called vitreous chamber  

c. The receptors which are specialised for receiving smell is called gustatory 

receptors. 

d. The middle ear contains three ossicles called malleus, incus and stapes 

 

2 

16. You may have experienced a sudden withdrawal of the body parts when they 

come into contact with objects that are extremely hot. 
NqSpIq-Snb hkvXp-hnÂ sXm«mÂ ico-c-̀ mKw s]s«¶v ]n³h-en-¡p-¶Xv \n§Ä 
A\p-̀ ---- -- -- ---hn¨n«p-−m-bn-cn¡pw---- -- --- -- -- - 

a. Name the process behind this.  
   Cu {]{InbbpsS t]sc´v ? 

b. Construct a flow chart showing the component in the pathway of impulse   

     transmission during this process. 
     Cu {]{InbbnÂ Bth-K-§Ä IS-¯n-hn-Sp¶ ]mX-bpsS v̂tfm NmÀ«v   
   \nÀ½n¡pI. 

2 
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17.  Structure of a human brain is given below. Answer the following questions given 

below 
Nn{Xw \nco-£n¨v Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. 

 

a. Label the parts marked as A ,B, C and D 

    A, B, C, D F¶v AS-bm-fs¸Sp¯nb `mK§Ä Xncn- -̈dn-bpI 

b. Write the function of part marked as C 

    ‘C’ F¶v AS-bm-fs¸Sp¯nb `mK¯nsâ [À½w FgpXpI. 

 

2 

18. Answer  the following questions 
Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

a. Which part of our body helps in the maintenance of balance of the body?  
     ico-c¯nsâ Xpe-\m-hØsb \nb-{´n-¡p¶ ico-c-̀ mKw GXv ?  

b. The canal which passes through the midbrain. 
   akvXn-jv¡¯nsâ a²y `mK¯p IqSn- IS¶pt]mIp¶ \mfw. 

 

2 

19. Our retina contains two types of photoreceptor cells namely rods and cones. 
sdän-\ ]mfn-bnÂ tdmUv, tIm¬ XpS-§nb c−p Xcw {]Im-i-kw-th-Z\tImi-§-Ä 

ImWp¶p. 

a. Write the functional difference of these two photoreceptors. 
     Cu c−p Xcw {]Im-i-kw-th-Z\tImi-§-fpsSbpw [À½hyXymkw Fgp-XpI. 

b. Name the purplish red protein present in rod cells.   

   tIm¬ tImi-§-fnÂ ImWp¶ Nph¶ \nd-¯n-epÅ amwkyw GXv ? 

 

2 
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Answer the following questions. Each question carries 3 scores 
Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 3 kvtImÀ hoXw 

 

20. Steps in the processes of nerve impulse conduction are given below. Arrange 

them in a sequential order. 
\mUotIm-i-§-fn-eqsS Bth-K-§Ä IS-¶pt]mIp¶ {]{In-b-bnse L«§Ä X¶n-

cn-¡p¶p. {Ia-¯nÂ Fgp-XpI 

1. Binding of neurotransmitter with post synaptic membrane  

2. Development of action potential  

3. Maintenance of resting potential  

4. Bursting of synaptic vescicle  

5. Na
+
 - K

+
 pump starts functioning  

6. Stimulus received and influx of Na ions  

 

3 

21. The following diagram shows the structure of  synapse. Answer the following 

questions 
kn\m-]vknsâ Nn{Xw X¶n-cn-¡p¶p. Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw 
Fgp-XpI 

 

a. Identify the parts A ,B and C 

     A, B, C `mK§fpsS t]sc-gp-XpI 

b. Explain the process of impulse transmission across  a chemical synapse  
    sIan-¡Â kn\m-]vkn-eqsS Bth-K-§Ä IS-¶pt]mIp¶ {]{In-b-bnse  
  L«§Ä hni-Z-am-¡pI 

 

3 
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22. The ears perform two sensory functions, hearing and maintenance of body 

balance  
tIÄhn, ico-c¯nsâ Xpe-\m-h-Ø F¶o c−v [À½-§Ä sNhn A\p-jvTn-¡p-¶p. 

a. Prepare a flow chart showing the pathway of sound waves during hearing  

    process. 
     sNhnbv¡pÅnse i_vZXcw-K-§-fpsS k©mc]mX ImWn-¡p¶ tcJm Nn{Xw        
   hc-bv¡pI. 

b. Name the parts of ear that help in body balance. 
     ico-c¯nsâ Xpe-\m-h-Øbv¡v klm-bn-¡p¶ sNhnbpsS `mK§Ä Gh ? 

 

3 

23. Observe the diagram and answer the following questions.  
Nn{Xw \nco-£n¨v Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 

 

a. Identify the parts A,B, C and D  

     A, B, C, D `mK§fpsS t]sc-gp-XpI 

b. Write down the cells present on the retinal layer from inside to outside 
    sdän-\ ]mfn-bpsS AI¯p \n¶pw ]pd-t¯bv¡v ImWp¶ tImi-§-fpsS  
    t]sc-gp-XpI 

c. What are the differences between C and D? 

     C bpw D bpw X½n-epÅ hyXymkw Fgp-XpI 

3 
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CHEMICAL COORDINATION AND INTEGRATION 

One word answer questions. Each question carries 1 score 
Hä hm¡nÂ D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 1 kvtImÀ hoXw 

 

1. Cortisol is an example of ------------ hormone 
tImÀ«n-tkmÄ Hcp ............... Xcw tlmÀtamWmWv 

a. protein  b. steroid  c. iodothyronines  d. amino acid 
 

1 

2. Note the relationship in the first pair and then complete the second pair 

BZys¯ tPmUn ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw c−m-as¯ 
tPmUnbnse hn«p t]mb `mKw ]qcn-̧ n-¡pI 

A. Insulin : Hypoglycemic hormone ;  -------------------: Hyperglycemic hormone. 

B. Hypersecretion of growth hormone : Gigantism; Hyposecretion of  growth 

hormone : ----------- 
 

1 

3. Note the relationship between first two words and suggest a suitable word for 

fourth place. 
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw tbmPn-̈  \memas¯ 
hm¡v Fgp-XpI 

a. Alpha cell : Glucagon ; Beta cell : ........................................ 

b. Glucocorticoids : Cortisol ; Mineralocorticoids : ...........................  

 

1 

4. The product of pineal gland regulates diurnal rhythm. Name the hormone.   
Zn\cm{X-§-fpsS Xmfw \nb-{´n-¡p-¶Xv ]o\n-bÂ {KÙn- DXv]m-Zn-̧ n-¡p¶ 

tlmÀtamWmWv. tlmÀtamWnsâ t]sc-gp-XpI 
 

1 

5. Which hormone is  known as an emergency hormone? 
ASn-b-́ nc tlmÀtam¬ F¶-dn-b-s¸-Sp¶ tlmÀtamtWXv ? 
 

1 

6. Cortisol and ........................... are involved in the production of RBC 
tImÀ«n-tkmfpw ......................... Dw Nph-¶-c-àm-Wp-¡-fpsS DXv¸m-Z-\-̄ n\v klm-bn-¡p¶p 

a. Thymosin b. Thyrocalcitonin c. Erythropoietin d. Mineralocorticoid 
 

 

7. Expand ANF 

ANF  sâ ]qÀ®cq]w Fgp-XpI 
        

1 

8. The protein hormone secreted by the thyroid gland is ..................................... 
ssXtdmbnUv {KÙn DÂ]m-Zn¸n¡p¶ amwkytlmÀtamWmWv ...........................................  
 

1 

Answer the following questions. Each question carries 2 scores 
Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 2 kvtImÀ hoXw 
 

9. Name the hormones,the deficiency of which is responsible for the following diseases 
GXv tlmÀtamWnsâ A`mhw Imc-W-amWv Xmsg X¶n-cn-¡p¶ tcmK§Ä D−m-Ip-¶Xv? 

a. Acromegaly        b. Grave’s disease     c. Addison’s Disease      d. Diuresis 

2 
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10. A pregnant lady is admitted in a hospital for delivery, but the delivery is delayed. 

A hormone injection was prescribed by the doctor. 
{]k-h-¯n-\mbn Bip-]{XnbnÂ {]thin¨ kv{Xobv¡v tlmÀtam¬ Ip¯n-h-
bv¡m³ tUmIvSÀ \nÀt±in-¨p. 

a. Which hormone is injected?                  
      Ip¯n-h-¨ tlmÀtamWnsâ t]sc-gp-XpI?      

b. How does this hormone help in child birth? 
   Cu tlmÀtam¬ F§s\ {]k-h-¯n-\v klm-bn-¡p¶p ? 
 

2 

11. A man is having loss of electrolyte and water through urine. He also experiences 

weakness, fatigue, low blood pressure and low calcium level. 
Hcp hyàn-bpsS aq{X-¯n-eqsS Pehpw ehW§fpw \jvS-s¸-Sp-¶p. AbmÄ¡v 
£oWhpw  Ipdª cà-k-½À±hpw D³ta-j-¡p-dhpw A\p-̀ -h-s¸-Sp¶p 

a. Identify the disease    

     tcmK¯nsâ t]sc-gp-XpI                    

b. Which hormone is related to the disease? 
   GXv tlmÀtamWmWv Cu tcmK-¯n\v ImcWw ? 

 

       

2 

12. Rajesh saw a poisonous snake on her way to school. She was frightened and her 

heart rate and breathing rate increased. 
kvIqfnÂ t]mIp¶ hgn cmtPjv BI-kvan-I-ambn ]m¼ns\ I−v `b-s¸-Sp-Ibpw 
izmtkm-tÑm-khpw lyZ-b-{]-hÀ¯\hpw IqSpIbpw sNbvXp. 

a. Name the hormone responsible for this 
     GXv tlmÀtamWmWv CXn\vv ImcWw ? 

b. Which endocrine gland produces the hormone? 
     GXv {KÙn DXv¸m-Zn¸n¡p¶ tlmÀtamWmWv CXv ? 

c. What is the common name given to these hormones? 
     Cu tlmÀtamWpI-fpsS s]mXp-hmb t]sc´v ? 

d. To which organ is this endocrine gland attached?  
      Cu A´-{kmhn{KÙn GXv Ah-b-hp-ambn tNÀ¶v ImWp¶p ? 

 

2 

13. The doctor prescribed insulin injection to a patient. 
Hcp tcmKnbv¡v C³kp-en³ tlmÀtam¬ Ip¯n-h-bv¡m³ tUmIvSÀ \nÀt±in-¨p. 

a. Name the disease of that person?      
     Abm-fpsS tcmKw F´v ?                 

b. Why does it occur? 
   Cu tcmKw F´p-sIm−v D−m-Ip¶p ? 

2 

14. Name the source of following hormones and give one main action of each. 

Xmsg X¶n-cn-¡p¶ tlmÀtamWpI-fpsS Dd-hn-Shpw [À½hpw Fgp-XpI 

A. Parathyroid hormone B. Secretin C. Aldosterone D. Erythropoietin   

2 
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15. The hormones with opposite actions are called antagonistic hormones. Name 

two antagonistic hormones and write down their function 
Hcp tlmÀtamWnsâ -{]-hÀ¯\w asämcp tlmÀtamWnsâ {]-hÀ¯\¯n\v FXn-

cm-sW¦nÂ Ahsb sshcp²ytlmÀtam¬ F¶v hnfn-¡p-¶p. c−v shcp²y- 
tlmÀtamWpIfpsS t]sc-gpXn [À½w Fgp-XpI 

 

2 

16. Complete the columns 
]«nI ]qÀ¯nbm¡pI 

Hormones Target Glands 

Hypothalamic hormones  

Thyrotropin (TSH)  

Corticotropin (ACTH)  

Gonadotropin (LH,FSH)  

 

2 

17. Analyse the facts given in three columns. Find their relationship and fill in the 

blanks. 

 ]Z-§-fpsS _Ôw a\-Ên-em¡n hn«p-t]mb `mKw ]qcn-̧ n-¡pI 

A B C 

Thymus .................................. Differentiation of T 

lymphocytes 

................................. Adrenalin Emergency hormone 

Kidney Erythropoetin ........................................ 

Pancreas .................................... Decrease in blood glucose level 

 

2 

   

18. Following are the hormones produced by tissues other than endocrine glands. 

Write the part where it is produced and mention the functions of each 
A´-{kmhn{KÙnIf-Ãm¯ Ie-I-fnÂ \n¶v D−m-Ip¶ tlmÀtamWpI-fmWv Xmsg 
X¶n-cn-¡p-¶-Xv. Ch-bp-−m-Ip¶ `mKhpw [À½hpw Fgp-XpI ? 

a. Cholecystokinin                   b. Gastrin 

 

2 

19. Immune system of a 60 year old person is not working. Why does this happen? 

Name the endocrine gland and its hormone that affect the immune system of the 

body  
Adp-]Xv hb-ÊpÅ Hcm-Ä¡v tcmK-{]-Xn-tcm-[-tijn Ipd-hmWv. CXn\v ImcWw 
F´vv ? GXv A´-{kmhn{KÙnbpw AXnsâ tlmÀtamWpamWv tcmK-{]-Xn-tcm-[- 
hyh-Øsb kzm[o-\n-¡p-¶-Xv.  
 

2 
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20. Rearrange the table using the terms given 
X¶n-cn-¡p¶ ]Z-§Ä D]-tbm-Kn¨v ]«nI {Iao-I-cn-¡pI 

Endocrine Glands Hormones 

Adrenal Thyroxine 

Pituitary Glucocorticoids 

Thyroid Testosterone 

Testis Prolactin 

 Glucagon 
 

2 

21. Functions of certain hormones are given below. Identify the hormones. 
Nne tlmÀtamWpI-fpsS [À½w \ÂIn-bn-cn-¡p-¶p. tlmÀtamWpIÄ Xncn-̈ -dn-bpI 

a. Regulation of BMR 

     BMR s\ \nb-{´n-¡p¶p 

b. Differentiation of ‘T’ cells 

     ‘T’ tImi-§-fpsS thÀXn-cn-b-en\p klm-bn-¡p¶p 

c. Stimulate gluconeogenesis, lipolysis and proteolysis. 
     -¥qt¡m-\n-tbm-P-\-Ên-kv, ent¸m-sse-kn-kv, t{]m«ntbmsse-kn-kv F¶nh  
   Xzcn-X-s¸-Sp-¯p¶p 

d. Support pregnancy and act on mammary gland to stimulate milk secretion 
     KÀ`m-hØsb ]n´p-W-bv¡pIbpw ape-̧ mÂ {khn-¡m³ klm-bn-¡pIbpw    
   sN¿p¶p. 

 

2 

22. The figure represents the mechanism of hormone action. Answer the following 

questions 
tlmÀtam¬ {]hÀ¯\¯nsâ Nn{Xw \ÂIn-bn-cn-¡p¶p. X¶n-cn-¡p¶  
tNmZy-§Ä¡v D¯cw Fgp-XpI 

 
a. What type of hormone is involved here?  
    GXp-Xcw tlmÀtamWpI-fpsS {]hÀ¯\am-WnXv 

b. Give two example for this type of hormone ? 
     C¯cw tlmÀtamWpI-fpsS c−v DZm-l-cWw Fgp-XpI ? 

c. Name two second messengers  for creating biological response. 
     Cu ssPh {]hÀ¯\w D−m-¡p¶ c−v ZznXob ktµ-i -hm-l-I-cpsS  
   t]sc-gp-XpI ?  

2 


